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1)

2)

3)
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a) o°2°yn pa starts at mn at the beginning of 't nyw and ends six hours later at the
end of 2" vw

X221 71w

a) The nvnw of the nn 1297 is at 8.5 hours (2.5 hours after nxn) and the end of its
n2»p is at 9.5 hours (2.5 hours before the end of oa7wi1 1°2)

b) This is because the phrase "a°2v7 12" teaches that the afternoon is to be split into
two parts

i) 2-1/2 hours are to pass before the 7n is brought

i) And 2-1/2 hours are to remain after the 7n is completed an hour later
R"wIN
a) Nwp

i) The phrase 0°27v77 1°2 also appears for the roo 129 even though the afternoon
can’t be split into even parts around 1105 j21p since the 1o 127p is vnwa only
after the 7nn is completed at 9.5 hours
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1) First nnipn
a) 7o are always brought in ww avw

b) For a anx7 181 who says that on naw "p212% pn7p poom" the 1o°12 are brought in
Yaw nyw

c) For a“nrT x» who says that on naw "poom? Prmp 12°12" the 1°3°1a are brought in
wnan ayw

2) Second mnTpi
a) Tnn n»wy takes one nyw and the nos 127y is brought afterward
3) Third an7pi
a) The earliest possible time to be 7an 1297 2 pn is at 6.5 (7xnm myw ww)

b) Now
i) based on mmar we’d always be 2°7pn the 1°nn 127p at 6.5

ii) and on noo 27w that’s o1 on Friday the 7n»n 297 is in fact brought at 6.5
c) But for reasons not relevant here
i) For % on mwn %> the 7nn 1297 is brought at 8.5
ii) For nos 27w that’s %112 5n except for Friday the 7°nn 3297 is brought at 7.5
4) '} xn»92as explained by the X9

a) “xynw ' and ®2°py ' disagree on when the 0 1297 is brought on naw as set out
in lines 2 and 5 of the following table and we’1l set out below that »ax and k29
and X7y 12 720 disagree on precisely what Sxynw» ' and x2°py " hold on lines 2
and 5

b) But note that there’s no npYonn between Hxynw ' and ®2°py " in lines 1, 3 and 4
that don’t deal with naw



' RNM2Y N2
K9 72 720 N2 »aN
6 5 4 3 2 1
v"q o' y'" Bl y" >
8.5 8.5 8.5 8.5 8.5 8.5 | mwiao N 1
7.5 8.5 8.5 8.5 8.5 8.5 7w 95 Mnaw 2
7.5 7.5 75 75 7.5 7.5 | Mmaonw o'y 3
w"vn yin
6.5 6.5 6.5 6.5 6.5 6.5 | w"vabnw o"y 4
7.5 8.5 7.5 8.5 6.5 7.5 | mawabnw o"y 5

5) X3 —X9W 12720

6)

a)

b)

d)

ORYNY® ' says on X»Hv7 naw and nawa Ynw nod 27y the 70 1297 s brought at 8.5
while x2°py "1 says the 7»n 1279 is brought at 7.5

This is because

i) 9Rvaws "M is wwn for 57 X790 meaning he’s 917 1K naw na because if people
were to see that on naw the 7°nn 3297 isn’t brought at 8.5 they might myva on
91 also not be 27pn the om0 at 8.5

i) X2py " isn’t wwin for 2177 X370 and that’s why there’s no need on naw to
delay until 8.5

Xowp to X2py "
1) Why isn’t the 770 1297 brought M2 at 6.5
YN

i) x2°py " holds for naw that 1°>°12% 7R 1o and we’ve established that this
forces 1212 to be brought at yaw as explained in the nvpn

ii) It follows that on naw the 71n 3297 can’t be brought before 7.5
iii) x"wama will explain this timing further at the end of this m2>7

Twni of the X mx — »ax

a)

b)

Part 1

i) SRvaws "M and R2°py " disagree on oo 27 that’s i on naw — HYRyPY " says
that the 7°nn 329p is brought at 7.5 while &2°py " says the 7oan 3217 is brought
at6.5

ii) because

(1) xynw» " holds for all mnaw that 12°12% 1n7p 1907 and we’ve established
that this forces a delay of 7an 1297 until 7.5

(2) x2°py "1 holds for all mnaw that oo Pr7p 1°5°12 and it follows from the
mn7pa that the 7nn 127p can be brought mraraat 6.5

Part 2 — mo01n as explained by R"win
i) "R
(1) Why doesn’t »ax say that Hxvnw» "3 and x2°py ' disagree not only on 27w
nawa Snw nod but also on &»5ya naw for the same reason namely that "

6



oxvnaw» holds that 12°12% a7p oo while X2°py ' holds that 1n7Ip 190712
o0

i) "awn

(1) »ax says that on xn5v7 naw both SRyaws " and R2°py ' are 717 10X N2W 1A
and it follows that 7»n 729 must be brought at 8.5

i) noxw
(1) Then why aren’t >xynw» 1 and X2°py " also %r ywox naw o1 for noo 27w

nawa Snw that if the 70 1299 isn’t brought at 8.5 people might be v
and say that %12 too 7nn ought not to be brought at 8.5

iv) 7awn

(1) On nood 2 that’s 1 on naw people will be 9°51 that the 70 1297 isn’t
delayed until 8.5 because the nos 3277 needs to be brought when the 72>p
of 7nn 127p is completed an hour after it began

(2) Namely for Hxynw» "1 the oo 1277 needs to be brought at 8.5 for Hxynws "
and at 7.5 for x2%py "

7) R"wann
a) noRw
i) Note that

(1) To answer the xwp of maoin on why »ax doesn’t say the np 2 between
SXynw” 1 who says 7.5 and x2°py ' who says 6.5 applies also for ninaw
RN2YT

(2) It would have been enough for mooin to answer that Pxy»w» " is naw
21 R and so Hxynw° " must hold that on xn%va mnaw the 7onn is brought
at 8.5 and couldn’t have said in '& xn>92 that 70 is brought at 7.5

i) why does mao1n also need to say that it must be that X2°py '3 is also naw ana
237 JUR 0N X»2¥7 Mnaw and agrees that 70 on X157 Mnaw needs to be
brought at 8.5

b) nawn

i) If x2°py "1 doesn’t accept that X»5v7 naw we’re 21 YR N2aw 113 SO that 70 on
Xn2v7 2w needs to be brought at 8.5 the same as for Hxynws "

i) Why in fact doesn’t »»ax follow the mvw of X2 12 1721 that both on nos 27w
nawa Snw and on &»%v7 naw there is this npyonn between SRy ' and ™
R2PY:

(1) xynw» ' says 1onn 129p is brought at 8.5 because we’re 21 for 7 R naw

(2) and x2°py " says 70 1297 is brought at 7.5 because he’s not WX N2Aw M
711 but holds that 12°12% 1n7IP 779012

8) Twnn of the X3 — the v w of 829



9)

a) X271 says that Hxynws " and X2°py " disagree on o 27w that’s 1 on naw the same
as »ax - with the difference that 821 unlike »ax says that Sxynw» " holds the 7nn
is brought at 8.5 and &2°py '3 says the 7n is brought at 7.5

b) This is because

i) DRvnws " says that on oo 29y that’s Pr on naw the 70 127p is brought at 8.5
to delay the noo 1290 to 9.5 because we’re wwn for awa ms°n — namely we
want to reduce the time that passes from the bringing of the mos 1297 until
naw >xx1n on the first night of 2w ar

i) while x2°py "3 isn’t wwn for w2 mon and that’s why we’re 2pn the 70
earlier at 7.5

c) wwp

i) For &2°py "y who’s not wwn for awa 2non why isn’t the 70 31299 brought
mraraat 6.5

d) y»n
i) x2°py " holds for naw that 1°3>°12% PP PoOM

i) And based on the m»7p: it follows for him that on naw the 7°an 327p can’t be
brought before 7.5

R"wAn

a) For xa1 the same as for »ax it must be that on X2%y7 mnaw both Sxynws ' and '
X2°py agree that because there is no &7°>°11 we’re 21 X naw 21 and as a result
70 needs to be brought at 8.5

b) This 7% answers the following x°wp of 2K Yy2
1) Xwp to X2

ii) It’s correct that the oyv of Xaw2a o explains for Hxynw» ' that on nod 27y
that’s r on naw the bringing of the oo 1297 is delayed until 9.5 because
the “wa of the no» 1297 that’s %581 might be 2non if too much time passes
from noo NP until naw xR when the oo 129p is Pox:

(1) but
() the oyv doesn’t explain why the 70 3297 isn’t 1»12 29 at 6.5

(b) after all the 7o»n 1277 is an 79w that isn’t 2ox1 and w2 2non is of no
concern
iii) y»on part 1

(1) Just as we’ve established that for 27 the same as for »ax there’d be no
X7°2°77 for XnHy7 Mmnaw because there’s no nod 1277 that people can point to
as explaining why the 7nn wasn’t made at 8.5

(2) There’s also be no x2°11 for X397 on nawa Hnw nos 2y for SR> " who’s
w>n for awa mon because noo 1297 is delayed until 9.5



(3) So Hxynws "y who’s wn for awa o needs to be i wux naw 1 and
require that the 7nn be brought at 8. 5
V) y17°n part 2
(1) Note that

(a) for ®2°py "y who’s not w»n for 7w2 71on there’s no need to delay 1277
70 past 7.5 and the nos 3121p can brought immediately afterwards at

8.5
(b) So there is a Xx1°>>11 and no need to be 917 KR Naw N in order to
require that the 77 127 be delayed until 8.5
10)°"wn
a) Nwp

i) We’ve established that if 1°5°12% P72 P0M we’re 2°pn the Poowa in ww avw
and the 12°12 in ¥aw 7ww so that 7°nn 1277 can’t be brought until 7.5 or a half-

hour into nnnw nyw
i) Why not bring the 7°nn right at the beginning of 'n 7yw

b) yn
i) After the p>1a there is a npyon of o097 an® and the npYon of the 0°1957 an® can
take more than one ww and end in the middle of 'n nyw at 7.5
11) mooin as explained by R"wain

a) For a 2nx7 187 who says Poom? pnamip 12712 — for example for x2°py ' according to
»ax — it must be that 1°>°12 and the 7190 of the o°1077 an don’t together take more
than an hour

b) since 1>>12 are brought in the one hour that begins at the start of wnn 7yw and
o0 need to follow promptly at their standard time at the start of ww nyw
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'R Rn™M12% TN
R 72 720 Nan »aR
6 5 4 3 2 1
v" o' v Rl v o'
8.5 8.5 8.5 8.5 8.5 8.5 | mwno N 1
7.5 8.5 8.5 8.5 8.5 8.5 7w 95 Mnaw 2
7.5 7.5 7.5 7.5 7.5 7.5 | Mmahnw o'y 3
w"'vn PN
6.5 6.5 6.5 6.5 6.5 6.5 | w"vabnw o"y 4
7.5 8.5 75 8.5 6.5 7.5 | mwabnw o"y 5

1) mmTpa

a) the table sets out the mu w of »ax and &27 and X?w 72 721 — as explained in the
preceding Ma°7 — on when the 70 1297 was brought for Hxynw» ' and for x2°py "

b) these muv>w are based on 'Rk Xn>>12 in the prior 27
2) 'a xn»12aon the muw of Hxynw " and X20py "
a) xwof 'axn»2
i) 790 mwa % nnis vnw: at 8.5
ii) The xw» mentions no npYonn between Hxynw» ' and X20py '
iii) Now
(1) for mawn 2> ,n this muew of "2 xn>91 is consistent with the v*w of the three
o°R7MR based on 'k &xn>12 that’s set out in line 1 of the table in the mn7pn

(2) But for mnaw on maw: %3 this nwew isn’t consistent with the v w of X2py "
in '} Xn>>12 as understood by &7 12 727 in line 2 at row 6 in the table
namely that on 7w 92 mnaw the nn 129p was brought at 7.5

b) xo9°0 of 'a Xn*92 on nawa Hnw nod 2w
i) 9Rvnw> " says the 7nn is brought at 7.5
(1) Note that

(@) this nww of 'a xn>1a for Hxynw» " is consistent with Hxynw» ' as
explained by »ax for 'k xn»12

10



(b) but isn’t consistent with Pxynw» "1 as explained by X271 and X7 12 729
for 'R ®n»12

i) for x2py "™

(1) The xnx first assumes that the words of &2°py "3 in the X9°0 can’t mean
that he holds that 7.5 is when 7n is brought on nawa Hnw nos 27w becaue
then he says the same as >xynw» "1

(2) and that instead x2°py " holds that 6.5 is the proper time

(3) this nvw of X2°py "1 in "2 &n>>1a is consistent for »ax with his ww for "
x2°py for 'R ®n°>12in row 2 of line 5 for nawa Ynw noo 2w but isn’t
consistent with the muv>w of 827 and X7 72 721 for X2°pY " in rows 4 and
6 of line 5 that on naw2a “nw nos 29y the 7°an 3297 is brought at 7.5

3) Inshort
a) The xw™ of 2 Rn™ 2 is a X°wp to K21 12 727 for X2°py

b) The &0 of 'a xn» 2 is a X°wp to X271 and 8w 12 721 for both Sxynw " and '
X2PY

4) xma

a) Nwp

i) We’ve established that the Xn»92 isn’t consistent with X293

ii) Mmoo will soon explain why the X3 doesn’t ask the same ®wp to 2w 12 17127
b) v

i) X237 would change the &0 to read this way

i) For nawa nynb% nw noo 27w

(1) For Hrynw» '
(@) 7nnis brought at 8.5

(b) And is consistent for 821 and X2 92 727 with their in mww 'R Xn»12
for Hxynw "1 in rows 3 and 5 of line 5 for nawa nw noo 27w

iii) For x2°py "y as understood by %27 in '2 &n>>2 there is this result

(1) x2°py in '2 &n>>1a can mean that the proper time is 7.5 becaue this would
result in a npYomn with Sxrynw» 'y whom %21 now understands to say that the
proper time is 8.5

(2) and "2 xn» 1 is consistent with the muw of X271 and X 12 727 for X20py "
in '} XN°>72 on nawa Snw noo 27 as set out in rows 4 and 6 of line 5

5) mooin
a) Xwp

11



1)  Why did the X713 ask that '2 &n**92 isn’t consistent with ¥27 without also
asking that the xw of 'a xn» 2 is a ®°wp for X?w 12 727 on X2°py " and the
%90 of 'a ’n>02is a Xowp for X9 12 727 both for Sxynaw» ' and R2py

b) Firsty1°n
i) X9w 92720 says that

(1) ®x2°py "1 in "2 &n>>1a doesn’t deal with the x9°0 altogether and says nothing
about naw2 5nw nod 27y

(2) So that it’s possible that 'a xn>92 would hold for x2°py "1 the same as the
mow of X9 12 112 for X2°py M in line 5 row 6 of 'k xn»92 namely that 70
is brought at 7.5 on oo 29 that’s r1 on naw

il) Instead
(1) It’s only with the xw> of 'a kn»92 that x2°py ™ disagrees
(2) because

(@) Unlike xynw» "1 who says in the xw»n that 70 is brought at 8.5 on 5
mwn both ,n2 and nawa

(b) ®2°py " says that it’s only 912 on mawn 95 that 70 is vrws at 8.5 but
for mnaw on maw: %5 the nn is brought at 7.5 consistent with the nuow
of X% 12 727 in '} X2 for X2°py ' on line 2 of row 6

c) Second y1n

i) We’ve established that the same y17°n that the X3 answers in the xo°0 of
'a xn>>2 for X271 also applies for X7 92 1727

6) X"wann
a) Nwp
i) the second yy°n is obvious
i) how could m»oin not have realized it when mooin asked its x*wp
b) possible y17°n
i) nmoon realized that the yy71°n applies also to the ®wp to X7 12 727

i) moon asked only why the x93 didn’t mention that the same X°wp and y17°n
apply also to X2 92 1721

c) Possible y17°n dismissed
i) If this is the x*wp of mooin the y17°n of Moo doesn’t answer it
d) yvrnpartl

i) moon at first didn’t want to propose that the y17°n of the k) for 827 applies
also to 9w 12 727 because that y17°n standing alone doesn’t answer for 7727
X7 72 why X2°py " in the X of 'a kn»9a for mwn %3 mnaw isn’t consistent
with the vw of x9w 22 727 for x2°py "1 in line 2 of row 6 for 'k Xxn°>12

12



e) Part2

i) But once moaoin in its first y17°n says that x2°py " in fact disagrees with the
Xw of 'a xn»1a on mawia %5 YW mnaw and is consistent with what 891w 92 721
says for x2°py " in '® ®n»12 for mwn 92 mnaw

i) moon adds that the y17°n the X3 gave for X271 would (as we’ve explained
before for x27) result

(1) in a npomn between Srynws " and X2°py " also in the koo of '2 kn»n2
(where Sxynw 1 would say the proper time is 8.5 and x2°py " would say
the proper time is 7.5)

(2) and a yrn for the xwp to 89w 12 721 from the xo°0

iii) And this is significant for X7 12 127 because it’s yawn from a later xn>12
that Pxynw» ' and X2°py " disagree for nawa Hnw nos 27y as well as for mnaw
mawn 9o Sw

13
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1) xn™n
a) "nwn "oy 7" teaches that "nw Hw 7Rn? o7 127 R ROW"
2) 'R 7wn in o°nar noon
a) "7Tnnn nwh WK P10 nw 7avn" teaches that anw Sw N is o7p to 1Poomn
3) Second mwn in oonar
a) nw W 7nnisn’t 20yn the Poom — the oo can be o7p
4) Xy in mmn
a) Nwp to the second mwn

i) We just established from the xn>>n2 that based on %117 %y 7731 the Hw 70
Inw must be amp

b) y1nof »ax

i) The second mwn teaches that "o7p x> X7w" in the xn>1a is only men® and
that 727 the o0 can come first

5) mooin
a) Nwp

1)  Why didn’t the x7n3 in mnan ask its xwp from the first 7awn as well as from
the xn»12

b) v n
i) The words "xm> X5w" in the xn*12 have a greater my»wn of Xx212°w5
6) X"wann
a) Nwp
i) We’ve seen that in the X3pon the 7R of W 5w 110 is only mun®
b) y1n

i) Still the ywpn thought that the xn>92 and the first mawn were x21>°v% and that
X7 X2 had a stronger mynwn of Xx21>°v5

14
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1)

2)

3)

4)

5)

25'mY 3TN 1T 2R ODD PRTIP NI NTIWVPT D' IORIP 9D RNINT T2
'R ®n*92 as explained by the &7

a) "oombwi vaon Mhy upm" teaches "0 miaapn 9o obwin MoY" — no NP are
brought after o°27wn 12 5w 70

'2Xn02

a) A special % teaches that nos 127p is an exception that is brought after v 7nn
0°27W1 P2

moaoIn
a) Nwp

i) Why doesn’t 'a kn»92 rely on the rule that a7 9*7n to teach that nos 1299 is
brought after 7onn j29p

b) v n

i) Without the special 7m°% we’d have said that that 25wn 5y prevails over 770
a7 and requires that the rios 1277 be brought before the 7»n 1290

'3 XN*72

a) The special T»°% mentioned in "2 xn>>12 also teaches that nqwvp and nn1 as well as
7°nn 127 are done before oo 127p

X"wAnn

a) mooin could have asked for 'x xn>12 why a special 7% is needed to say that nna
and navp come before nos 129 when this &n»9a could have relied on o7p 7°1n

b) And for nmwvp and nM1 that aren’t M127p it wouldn’t be appropriate for msoin to
answer that 0715 miaapn 25 obwn "oy would have prevailed over amp 2>7n with the
special 71m°%

15



nIvEs 0TI Tnn "1 v

TINOY 9o "5 NP 702 WMIDR REAYY 12 nMwph 27Ip TN 7''7a v"weoea
NTIAY MIT NTWP KON ININD JUVPRR KDY PORIPD NPT RNV TR MR TR
1702 RAYY TIDAT MMRP RIARY TVAND M1 PRTIY NI NTIWVPT KA1 INNDT 201
TP'TY AW PARIA KD YT IR PaAR KR

1) 'R Xn™?

a) the 770 of the m72ay on nos 29v:

b) aoxw

'R

Xn™12 770

7N

[gleb3)

nop

m

i) How do we know that 7»n comes before oo 12p

c) mawn

1) A poo for noo says both 27v2 and o°2v7 12 while for 7°nn the word 272
doesn’t appear

ii) the details of this 77°% aren’t relevant here

2) X
a) Nwp

i) The word 27v2 also doesn’t appear for nmwp and nn2
i) why don’t nmwp and n1n1 also come before r1od 127 the same as 7°nn 127p

b) y1n

i) for mn1a o says "pa 7Y 27Yn 112 IR INMK T L T DR
i) The word "nX" teaches that n1m1 comes after all other mmay including 7297

'R RN>°12% ROWp

'} XN™12 770

N

RN

nup

[gleb)

mnl

nop

nod

m

nod and navp is wpnex to Ml

3) "axn»Ma

a) This xn»n2 disagrees with 'k Xn»92 and says that the order of n129p and m72y on
noo 27w is in fact first 2°27w77 1°2 YW 7°nn — then nwp — then n1m1 — then noo 2P

'R RN>°12% ROWp

'R X127 71N

70

70

nup

10D

mnl

[ 2°n37] NP

1109

1K 22n97] MM
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4) Twni of the k)
a) Nwpto'axn»a

1) Since mn1isn’t later than 1oo 127 how does 2 kn>12 apply the vy n of 1Nk

b) v n

1) X teaches only that 171 that’s an 2°192 7712Y needs to come after all other

'2XN72

'R XN127 71N

RN

7N

np

102

mnl

[\nx 22n27] NP

Ji=b)

[IMX 2n37] MM

mT712v such as nvp that are also an o°192 772Y

il) 1mx teaches nothing about the order of N1 and nawvp relative to an yn n7ay

such as no»o 12p

'2 Xn>72% 717N

'R Xn*72% 71N

RN

RN

[2°30 nTav] NP

o2

[2°15 nT2w] MmN

[1NIX 2°n27] Nvp

X2 1 nT2ay] oo
[ w7

[Imx 22n37] M3

5) >"wn as explained by X"wAmn

a) the & nx in o°nar noon explains why nawvp and nn1 are after 7»n 127p — presumably
because of 1mx — even though 70 is an v nTay the same as nos 129p
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axX N1 AT A" TN DM Yoinni "' T M'wn

RDINT 217 N7 01 ¥R R H''OY 15 Mo 27 IR YTIRR 130 29D W 'Y
7797 TOD NIRRT KDY JIRT 7052 IR N NAMT WRT PRT TWRT P02 7''Rb
NT2192 179 9P KD INRR IR B0 DR 29100 N0 923 D'INRT WP IN RbwaT Ty
N7 7990 ROONRTY 71 519 Wpn K21 WK 172 D997 WK RDINTY 709 Swpn KDY 212
70 M RPT 'owWn w''Rs [aTIp] nRW maapwa Rasyn K97 nT0va Y RpPUoD

9™ R2IDW PRWNAT STNIN 2ONDTH YRR RONR 20unT

AN 5732 777 9NRTY 2O "D 1IN 7192 29057 YTINKRa KPIT 1997 9% AR a7 ' Ta
N2 N210% Y99DRT ¥IRna @'Y mMIn® nTHa 1T "D XU Y9BRT 'Y
TP'INTY DI R2IDOY DRWRT IR TR0

1) First nnipn
a) nia1p that need to be brought for the 777w of 2> M9°0 oK

jali7fs oW nRon
wad Y qy 1Y VNN
k) 17 w2 PYY VNEAD
qy a2y 1y 7o
wad a2y WY DT
Y qy a7

2) Second nnTpi

a) The nwy of mnbwi generally requires that n127p need to be brought before 7onn
0°27W7 P2

3) xn™32
a) Rnp XN

i) A D95 7011 on noo 27 is an exception who can bring his niaap for a9nw
after >2w77 12 7m0

i) Because he needs this 71770 to eat noo 31297 and not to be n1> 2>1 for not eating
oo 2P

b) 1172 72 1M ' HWw 12 SRy

i) The exception for a9 "0 applies all year for a person who brought o9
maTn earlier in the day

i) Because without o>793 the person won’t be able to be »pn an nwy — the nwy
of 7%°ox — that requires the o°375 and the 0>7195 107 to eat the ma7ay o171 that
the o> "o brought earlier in the day

4) v
a) Xwp to the Xnp Xin

i) There is a “nx7 187 who holds that there’s no n15 17 for an nwk who doesn’t
eat oo 2P

b) y»n
18



i) xnp Xin refers only to a y1g» or a ar — not to a n7>r — and for a y¥n» or a1
there is a n9> 777 for not eating oo 2P

5) x7naxas explained by *"wA
a) Nowp to 2"27 5w 12 HRYHY
i) There is no n13 for not being o»pn the nwy of ow7p NPoK
i) Why is it that the 7wy of ow7p n2°ox is 1m7 the qwy of on>wn
b) y17°n of X701 27 as explained by *"wA

i) 2"2 %w a2 Hrvnaws " deals only with a »av y8n or a ar or a n7? who bring
their nxvn only 7w 11

i) The nwy of nn>wn doesn’t apply to a 7w 1297 for whom only its o7 is brought
to the nam and there is no wvpn on the nam

c) Nwp

1) The awx of even a 1y yM¥» is a wad that requires 77vpi and to which the nwy
of mabwn does apply

d) y»n

i) 2"2°7 %W 12 HRynws " deals with where the y1x brought his ow 1297 before
the °27v7 2 70

e) xwp as explained by moown and by X"wnn at 28 712 21 7'
i) The o195 1011 also needs to be bring a 77w 12p
i) Now
(1) if the 79w 127 wasn’t yet brought then for a reason not relevant here it’s
too late to bring the 121 now after 0°29y7 12 >w 1°nn

(2) And it can’t be that the 79 1277 was already brought because we derive
from a ax 112 that the nxvn must be brought before the 79w

(@) mxn for a1y 7o
(b) And even x212°y for yxn based on ""an"
6) X"wamn at onod o 'Y

a) We established earlier that *"wn says the x»p Xin deals with y71¥» and ar but not
with n1ov

b) xwp

i) Once we accept that the &»p xin doesn’t need to deal with every kind of =0
appibl

i) Then to answer the nvwip of the X7ma to 2"272 HRynw

19



iii) why doesn’t the & nx answer that 2"2°7 5w 112 Srynws " deals only with n75
and ar who bring no awx and for whom the 17 that nxun must come before
79w isn’t X212°v7 because the word "iin appears only for yxn

20



17 I'K 2T nisoIn

5oy "2 7" ABRT 1D 727 TUPIT 07T KUK 2001 K 2''p7 "D TR PR 7''72 'on
DNV RTOM 27 779 9P IR 50 DR 297100 10IR MR 25T 22N b 12 o'
TRV AT AT N2y ROT ATYRT ' mam® AT KUK NURAT 07T 702 99T
923 PR YRNDTD TRRWIT WY T AT RIPT 90 2R MY NN gRhwnT
bR 7N Y 390 27 720 PRYIT 7907 10 VAN TR JAT POTIR 1190 1IN

29PN P TURIT TR mamb T O''R o abwn R N

1) First nnpn

2)

3)

4)

5)

a)

The nwy of mown refers to "oonown »a%n "oy 7" that says that n1aap generally
need to be brought before o°29v: 12 °nn

Second 7P

a) N at:winT
1) xwp
(1) Then how is it that a Xn»92 says that it’s 201 to be o> R vvpn of noo 129
all night
b) 10 as explained by *"wn
1) It’s amn to be ok 2°vpn all night for maaap for which there was o7 np>1
before o>27vn P2 5w 710
ii) Because then the 129p became 7vpa% "8 before the o2y Pa Hw 70 and we
consider as if the n7vpi was completed on the basis of anw 5w 70
Xn°>12
a) Nw™
i) NI NTvR RPX 0°2997 12 YW TR0 IR 20YNNY 127 70 PR
b) xo2°0 as explained by the &7

i) 2"273m ' 5w ma Hrynwe 1 says that a o193 q0nn can bring his 70aw naaap
after 027w 12 Sw 7an if the 1200 is wn n

ii) the mnbwnT nwy doesn’t apply because
(1) only the o7 of a 7w 321p is brought to the narm and there is no 77wvpPn

(2) And a person isn’t 12w the mn>wia7 awy for bringing a7 to the nam after
o°27Y 12w TN

mooin

a)

Don’t be 071 the word "nmn1" in the Xn»92 because the xn>12 deals only with >71°n
IupaT

X"

a)

WP

21



i) We’ve established that 77172 32 7377 "1 5w 112 HXynw» ' in the &n>>1a deals with
qv 1270 for which there is no 77vpn

b) v

i) We’ve seen if there is 07 nxan of a noo 1277 that’s not Mwi 11 before Sw nn
0°27y 12 the nnbwnT 7wy no longer requires that the 7 wvpn of the o> nx of the
1277 be done before o°2w77 12 5w 70

i) This aspect of o7 nk2a:7 is enough for o7 N2 even of 7w 1 127p to be
considered "vpnT7 >7on" for the purpose of moon in our X310
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axX N1 AT "IN

0°7193 0 "7 PR eI Y
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101 Q7
M DINWY n"TNn
5oy "2 2hmT DY 2T DY RN POXT R DY N0 D 2wy 773 [2 Ty vl 7]

DR AT PYUDIN DTS IVUPAD PTRY IRM PUST 20N INMLIA DN
19'mY 172K 9IRD DT IWPTY MOR J12TRT T 1XINY 2VBYAT PIDINM

1) First nnipn

a) the 0°17> can’t eat their P> of a 797w 129p brought by a o195 q0K until 7vPn of
the 129p

b) and until the o175 eat their pon the 0°%va aren’t 99101 and can’t eat DWTp
2) Second nTpn
a) 7oRw
i) |If

(1) there was no 11wvpn of 7w Maaap because the 0027w 1°2 Hw 70 was
already brought and the nn>wni7 nwy applies

(2) So that o°1770 can’t eat their Pon

ii) Does this forbid 7%°ox by 0°9v3 so that there’s no 7193 and 0°%v2 are 710K to eat
their maTn o1

b) nawn

i) If o175 can’t eat their p%n because the ok became &nw or were lost we
consider as if the o°3715 ate their p%1 and 2°>va became a0 to eat their a°171
na

ii) the same is true if 0°17> can’t eat their pon because the mnbwnT nwy forbids
DR NP

3) mooin as explained by x"wann
a) Nwp

1) there is a anx7 8 who says if the o nR were &nvi there is 77vpn anyway
because the y>% is 7% on 2K NRMY

i) So what proof do you have from w1 that the °%va can eat their por in a case
where there in fact is no 7vpn

b) v n

1) 132777 there’s no 77vpPn even for the 7KRT 18H who says that Xxn>> k77 the yox is
7% 0N WNLIY 22K
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21N 'y X' A" TN

N7 ROI77 ROPX 290 2192 PP29P Naw vabnT »''n P ey "o 9w it X9 ' Ta
©'"92 NAR NPIY YRARKRY SNR RO YRRH INAWa Naw nPIWT XApT 9o "o P9
N2 NAW NP RAPT RINNT T KD 77290 KD 112 9 DR R RMONR OYRARNRST
NINSY [210 2ma] (PI2) naw Y 'Y RN JWRR M PHY ROPY 7DD 1IN

tP'TY 39 NAMNaR R "2 N'HTa mwRT AT Rean

B9 BMop "o PR R DR ROTT ROMDD RIAPIN P17 7RO 7907 901 7''R2
"DINTT W'D RAPING P10 1A A'Y 1929017 PR RPD 09 31T ROTT ROMDT
7OD 20T RINR P2 921 2"V DORIT MWAT N2 RIPD 7D PAT JApRT RIN0Y

19" 1993 ;TR DY YT 9o BN

1) xm
a) "nawa naw ny"
i) teaches that nawa P2 31°R 21 °2%1 928 N2wa 1°27p Naw 200
i) And also that 210 ara PP 1°R 911 0250
b) xwp
i) "nooi an nar apal P R
(1) teaches an 171277 M0°r for noo 129p Ak starting with the morning of j0°1 1"y
(2) and implies that 210 o1 5w PR %H2 1207 2110290
c) y™n
i) the proo of P2 &% deals with oo 2y that was 1 on naw
ii) and teaches only that v"y2 P2°1p naw *2%n
2) nmsoIn
a) xwp on the x°wp of the xna
i) why did the &3 assume from 1nawa naw now that
(1) because nawa 1°2°p PR 211 0270
(2) The 17 must also be that there 210 012 P2°7p PR 2117 2290
ii) after all naw is more =°»n than 2w av
b) v

i) The x7nx here follows the ww of X2°py "3 in naw noon that in the 7% from
N2W2 Naw N7

i) wnawa
(1) Refers to a day different than naw namely it means 21w oy
(2) And teaches the x7p that 210 01°2 P2 naw *2%n

25



(3) This implies directly that v"y2 P2°p PR 2117 %290
3) Twni of moon for the xo9 of X"wAin

a) T %797 92 R 1D RDT ROAT KIPD 012 PP Naw 2517 Y P Ry "L v
"nawa N0 YRY WY VAR apInk Nnon 9377

4) R"wan

a) Mmoo means to ask the following xwp to X"2>7 and his explanation that the X2
follows the nv>w of X2°py "1 that 1nawa naw n?w teaches that o2 12°7p naw *2%n
=i )

b) xwp

i) That 21 o1 1277p naw *2%n we already know from "1°9° X" since we’ve
established that %> &% deals with oo 29y that was %r1 on naw

5) Further qwni of mooin as explained by X"wAnn at 120 7997 51 7"Ra
a) We’ve established that x2°py " applies oo an 7ar 727 P2 XY to 2 ey

b) Note that from the X723 at :30 77 it’s yawn that X2°py " holds that the same 109
also teaches that o°va can eat the =w=2 of noo 12p through the first night of 2w ar

26



INTNNX 7N TN YR [IWYT7 019N 1791 TVNAL 'Rn MY KT AT

"OINT NDTR 79T 39 0oy 10 W NIRRT ORYUD X297 9'IR 10 R R ORT 7'
TH''Y RS 2TINRTR INTID RDD 27 302 RO7 0T 17T XD 12 'R 777IAva KaN oya Ko

B Hoy "3 WIS TIRT 23 BY AR 2''7702 199ER PR PWH 01502 39 7''R2
DNYAN 292 BT R KD ST9ID NN DIMIT 3190 2R NYANT TP NN ROYan KD
7''DR QTR DIMD WY PN YAN2Y 71025 ROK WIS 1WIRT A''702 19IDN ROR 2w
%' T MID T ARRNR TR IR O DAk PR RS 0150 2o 2" b

TP DI 2MRma AR OB BTN YT

77122 WWIDR MWD KPR 1MW 2% RO WS KD 2RI 1D 171900 Y9en 7'Ra
SRR MDD WTIP NI NIPRT DWW ™Y R 1D RO mwba B 5oy nnN
IR'ITY IAPRTD MWD NRPRT 2R PRIRD K2

1) First nnipn
a) PR "M says WX WL 01N
b) -0 ' says that 0on1 7X 1727 M2 AR
2) Second TP
a) The four mmay of nos j21p are ap>1 79917 7%2p NVNWY
3) Third 7P
a) Once any of the four mmay is %00 the 1277 is 209
4) Fourth mnpn

a) If for any one of the four m2ay there was a nawnn of ww? followed by a nawnn of
MYH Row

i) For 7°xn " the 1277 is w2 because he holds that pwx 17w 019N
i) For >0y " the 1277 is 2109 because he holds that 0501 278 1727 932 AR\

b) If there was a mawnn of vaw? for any one of the four m72ay followed by a nawmnn of
mws 7w for a second nmay

i) The second 172y is 7100 even for 7°xn " because for that 7712y there was no
first 7w that’s qw>

ii) And it follows that the entire 1297 is 2109
5) Fifth anpn
a) mwn
i) D109 1WwS XOWY MWD WNww noon
b) xm
i) ®vaR of oo 2
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(1) Does the mwn deal with a person who had these two mawn» during one
772y or does the mawn with a person who had a 7awnn of vw? during one
nmay and who later had a mawnn of yw? X5w during another 772y

(2) If the first 7x of the X°¥2°X is correct 7°&n ' can’t agree with the miwn
because 7°x» "1 would say 2w because 1wra 1w 0190 and PRI YL was
MY that’s Ww>

(3) If the second 7% of the X°¥2°X is correct 7°xn " can agree with the mawn that
the 1297 is 2100 because there was only a mawnn of yw> x5w for the second
772y and we’ve established that the 1297 is 709 if any 772y is 2109

6) Sixth mnTpi
a) 21 holds that 71025 858 q0NIWS PR
b) »ax holds that 10 731 7%nnn avnws mws

7) mooin at °x7 "7 as explained by X"wann at "% 7"Ra consistent with &»°% 53" at A7
ble)

a) Partl
i) Here are man7 of 0°193% where °Ria " says WX W2 019N
(1) First xa7
(a) 3287 said 2ombw NN 3T 577 39 NN T T

(b) In this 191x »ak and 27 agree that it’s a M wd that 7°x»n ' says 01N
WR WL because

(i) it’s possible that 121% at first had a 7awnn only for 7w nvan and
he later changed his mind

(i) and 2°xn " ignores a later change of mind
(2) Second &7
(a) 3287 said 2ombw NN 79w N9Rn 3T 097

(b) Similarly in our 8723 where 12187 had a 1w X9 wws nawnns for
one 7712y

(c) »ax says that here 2°x» "1 agrees that with >0y "7 that 278 1127 9732 AR
05N because we assume that 32187 intended both mawnn from the start
and mentioned one mawnn first only because he couldn’t say both at the
same time

(d) 27 says np1onn &1 79 and in this X377 too 7°kn ' says 1w 019N
WX because what 72187 was awon first was 79152 Xuws

(3) Third &7
(@) For mam> during nvonw
(i) 1f /o 731 3%nnn e nw gaws which is the qusw of »ax
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1. it’s a mvw»s holds that 7°&k» ' agrees that 0501 7K 19727 W32 AR
(i) If m02a2 Xox v nw? Arx which is the nww of X2
1. nponn & o7y for mvonw and °Rn ' says PR WD 019N

2. And it doesn’t matter that it’s possible that the mawnn were S
at the same ¥ during nwnw

(4) mooin also mentions other a7 that aren’t relevant here

b) Part 2

c)

i) Mmoo is o7 that the X°va°x in the & na here is by X271 instead of x5 27
Part 3

i) And we understand that it’s X217 who in his X°v2°x says that if the mwn deals
with two mawni during the one 772y of Av nw it must be that 2°&» " would
disagree with the 7awn and say that the 277 is 7w> because Wy W5 019N

(1) First because we’ve established that 2°&» "3 in '2 X377 according to X217 says
WX WS 019N

(2) And second because we’ve established that 2°&» '3 according to 21 says
71029 ROR 0L 7K so that for g nw nawnn the P is also 7w 01BN
TR

8) X"wAmm at 1N "o T7'Ka

a)

b)

We’ll establish further in the X°210 that 192185 X1 19993857 wnw and also for Xow
PHIIRY 1YY the 1277 is W because 19w nxpn is wo regardless of whether
MR N 0190 applies

But

i) for wp 1w nxpn — meaning if 1w X5w mwh wnw and M mMwh ROw WY —
the 129p is 7109

if) There is no 17 that is 7°won a wIp 1w N¥pn

So for wp "°w nxpn the only possible “wai7 applies for X271 according to °xin "
based on Pwx1 WY 0190 in a case where the awnn of mw? mwnw was first
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"2 2" TNI "N XYM X DTIAY2 X9'0TNI XINal X9'0 D72y’ a1 "'wn
N99 11T X'V2

VAR 72 2ROT WM DT MR KW 15 KD 2awP 1772 v"whea [X Ty © Y
PATY TR PPy AR VTR 11977 RRONT KD ONDR2 vPp1 'Oy "D awn patwy
KPR LW 0BT INPT RWOINT RO 7' 00 D KRNI RUTIAT 2w 1wh KOw
WO 907 97T WA NMITIAY '22 3'7752 91 TR 1ARH PO TR Dapw 119077 1w
NP UIWR ORPT KW MRPT RTIADN AR5 2w PR MR XYY 72 2R
'22 MR RWITT RDID P2 RWIIT RWOM 1727 2" "D 7012 ORP 1R 0w 2w
N0 DaR 1IPYIT2 WA RP IPIITRY VIR DY 2w RP TUMIRAT whn mMTay
YAWH RORY 1Y RDIDT RO 509N TIRDNT VPN TP 2WIAPY UMW IRPT
TAPD PIDNATD VR 315102 1D AR RPW RDODT 7' 79 TIND N7 ROIIAT 2N

1H"PY 9% 7127 MIRY NN AT 772 A Dwh

23 DY ORI RDYIZRT WINT RDOT RO D' "D M1 R 'R TIApa KOOI B
SR OXR KY RNPINNATT J90 2R MPRP MITIRY N 2"'Y PANINR 0T RO
27 32 RF°1 950 77127 771272 2wOM2 KUK (9157) RROT RO wRn N7y 'aa

9™y 110 1HDINDT RDODT ROIT W 'R T2V MR RNYINNIT

PAS W NITIRY "2 737 "5 RDD 297 RO 17T whnn R''awmy "o Rwa um '
297 R9W2 129971 D3R "IN w0 R 17" noTah wanh 0 X1 K97 0oy 1
9 OTITY ROV VRENY INPRT RTIAPN 9102 2''102 5''RT "5 mURIDh 910 1RW NRDD
BOpDT NS5 277 ROY2 MM K27 MRP OA0T 70 WADR angs dY KOR o1 9"
RWIM77 XOR DAR 771202 OR WK NITIAY "33 MR Inn R ROpwn 7070 IRYT
SR 390 RONRY PR 'R 7TIAYA OR RNYIZRD ROR Rpan KDY NITIRY '22 1R ORT
NOP2RRT 19257 22077 2190 199DR RONRY IR 77IAYY 77aYR 2wnna nTay 'aa
B T2 77 PRI 9O NN TV 1T ATTS MITIAY 22 1T 2T JMRR ON b

TP 2I7ATT NOYAN 1T

1) First nnpn
a) °Rn "M says PRI WS 01BN
b) >0 ' says 05N QTR 1727 M2 AR
2) Second 7P
a) The four o7 mmay for a j27p are nw nw and 7%2p and 75717 and Fp>T
3) Third n7pi
a) Ifinany one 1My a person first has a mwY 7awnn and then has a mwH R5w 7awnn
i) 2°Xn ' says w2 because his pwRa wH was wo
ii) 01 " says 2100 because 0onI DX 127 MR AR
4) Fourth mnpn
a) Xnby 910 agree that a 127p is 709 if any one nmay is 709
30



5) mwn

D09 1AWY XYW WMWY 1od; RuMTRY |1

MWL KW PN T2 221 1w onw RU™MT R0 | 2
5109

D100 1wH XOWY Mwh | (RNYUxn) X907 R | 3

D109 WD WY RO RDDT XD | 4

WD PHIIRD RHWI PIIRY WY T awn | S

6) N
a) N99 27 W2
i)  When the x5°07 xw1 of the 7awn (line 3) says 2109 MWL Row MW

(1) Does the mwn deal with a person who had these two mawn» during one
772y or does the mawn with a person who had a 7awnn of waw? during one
nmay and who later had a mawnn of yw5 X5w during another 772y

(2) If the first 7x of the X>¥2°X is correct 7°kn " can’t agree with the miwn
because °x» "1 would say w> because 1wrA 1w 0190 and PRI MWL was
nwH

(3) If the second 7% of the X°va°X is correct 7°k» '3 agrees with the awn that the
129 is 2100 because there was only a mawnn of mw? x5w for the second
772y and we’ve established that a 127p is 9109 if any 7712y is 709

b) xwp of "KW 1257 2557 R"

i) the x5°07 X on line 3 ("100 1MwY Xow MWL) must refer to one 1My
because if it refers to two mmay it’s the same as Xw>17 &X9°0 on line 2 wnw")
("W Xow "o S0Py mw that directly refers to two mmay

ii) So it’s obvious that the 7awn doesn’t follow 2&n "
c) 1> of the y1°n of the X

i) 2ownP AuIwa SXPT KDUO TP WA RPY TV RPT XY MY nwa anvh"
N9 "R

d) yrnas explained by »"wA

i) It’s possible that 9°07 xw1 in line 3 ("0 MwH Row mw>") also refers to two
M2y and here’s how it differs from w7 X9°0 on line 2 121 52591 1w? wnw")
("nws ROW

(1) In the "xw>1" meaning in the Xw>17 8o°0 on line 2 where %21 WY wonw
MWL ROW PN oM

(@) the nwenw was mw and the other 772y — for example P71 —was oW
mwY based on a separate mawnn made during P>

(2) But in the "x5°0" meaning the x2°07 Xw>1 on line 3

(@) When the person did the mw? v nw he at the same time had in mind
that the mp>21 would be ywb Xow
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7)

8)

9)

(b) And the mawn teaches that 772y nmava pawnn - namely that a 7awnn
may be transferred from one 772y to another 72y

(c) And since in the end two m7ay are involved the 7awn that says 7109
can still follow & "

X"wInn at Xo°0 awh a7
a) First mnTpi

i)  When the mwn says in xw17 X9 on line 1 that %109 vw? Xw wnw the mawn
implies that the p>n 70917 7720 were nw»

ii) So it’s obvious that in xw>27 X there was no 7105 nawnn from an earlier
nmav to a later 7may

b) Second nnTpi

i) The same is true in &5°07 X9°0 on line 4 where the mwn deals with w5 Xow
alvid

c) It follows that

1) When the k73 says that in the "xw" there is no 7awnn from fwnw to AP
the xna refers to &w>17 Rw as well as to xw7 85°0

ii) and in fact the & nax also refers to X9°07 X5°0 even though it’s not a part of the
"xw" altogether

d) The same applies to *"w" who also refers only to xw>17 ®9°0 in line 2 in explaining
the y17°n of the X

e) noRw

i)  Why in fact do the x7nx and >"w refer directly only to xw»27 ®xo°0 in line 2 as a
case where there was no 7awnn from one 7712y to a later 77y

f) nawn

i) because the xwp of the X7nx that "&w>1 137" was based on &w>17 &9°0 in line 2
which deals directly with mawn for different mmay where w5 comes before
MW Xow and is most similar to x9°07 X in line 3

xipon of the x7mx at this stage of the x>o
a) "N99 277 XYM

mooIn

a) X"17now

1) "R99 277 Rva I m" means that the y17°n that the x9°07 Xwn of the mawn might
teach that 772v% 7m2avn awnn and that the entire mawn might deal with two
mmay explains why 55 27 wasn’t b5 his &°¥2°x from the miwn

b) xwp of &"awn to the 7w w of X"2* as explained by X"w-nn
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1)  When the & nx determines that an X°v2°k can’t be resolved the X3 doesn’t
generally add “and that explains the x°y2x”

10) X"awn nvw as explained by >"wann
a) "ko9 277 X°¥21»m" means that the actual x°va°x of x99 27 is this

i) We’ve established that 7% ' doesn’t say 1wx1 W% 0190 for two mmay for
which a person has separate mawnn

ii) But does 7°xn " say pwKa 1w 0110 where there are two m72ay and a person is
awnn from one nmay to the second

11) R"wann at X959 277 Ry WM a7
a) X°wp to the quow of X"aw~ as explained by "wmn

i) The x7mx in onar separately asks whether 2°xn» ' would say w2 w5 0190
where there are two mmay and a person is 2wnn from the first to the second

b) nvw of X"2wn as explained by X"wann
i) "N99 277 Xva I m" means this:
(1) Part 1

(a) The x>wy2°x of 895 21 isn’t whether the 7awn as a whole deals with one
7Ty or two mTay

(b) Since in fact x99 21 from the beginning understood that the xw- deals
with two mmay

(2) Part 2

() The x°y2>x applies only to the xny>xn (Xw>17 85°0) and asks whether the
xny ¥n deals with only one may and it applies only for »ov ' or the
xny¥n deals with two mmay and a person who was awn» from one
772y to the other and so is consistent also with 2°xn '

12) qwnii of the X
a) Nwp as explained by X"wnmn at X907 7"7
i) POORD ROw 1PHRY yworw in line 5 deals only with the one nmay of nwnw
il) so presumably xo°07 xw1 also deals with one 772y
13) X"wnnn at ko0 22WH "7
a) Nwp
i) why does the x7nx assume that
(1) we ought to compare ¥5°07 X110 PY2IRD KW 1PHR7 wnw in line 5

(2) Instead of to xw»17 &w1 in line and &w>17 85°0 in line 2 that deal with two
mT2ay as we’ve established earlier

b) v n
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1) Once we’ve decided that if the 7awn follows 2°x» " then

(1) Although the x2°07 &2 in line 3 and the xw17 X5°0 both deal with two
mTay

(2) They’re still different in that the X7 ®X9°0 in line 2 doesn’t deal with
T72YY 772YR Pawnns

ii) It follows that it’s more 22non that

(1) xo°07 8w deals with only one 772y and so is precisely the same as the
case in line 5

(2) and the mawn doesn’t follow P&n "
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X 2"TNnI 'mwa 7axk A" TN

9%% 'R TTIAY2Y 10 MWD 29NTWY 2ORAY RDID NP N7 1D nwa bar 17''72 movon
SH9T 1TNNNT 'R T2V 29TV 2INRY RN 901 9200 ' H'op "D nawnn PRT
1" Py JARDTD WY VP RPIDDT NP NXPR BT 05N 27N 1927 N2 NN

129977 INDT RT3 R'op "o »''Ab mbop KDY a9 nIpn nnswn XY R"yaT 7''N2
DY 7Y RPIOD RDIA RNMI2 727 RIPR 7000 DIPR VWD NPT JApDT XNN2
S0 "D RINRT I RDINT RIN 9557 MDIRY 2''57 71927 779197 INBMW NXpR 1w
29T WD 29D PRI 29TPIT RN QIR NINPT TAPDT RNMA2 772 'Y han
DRAWR KDY 1902 9P 779197 W07 299ph 19 'R RTIADN pTRTRY P00 Pk
AT5TO2 RDR 219 YMIDWRD RDYDY 219 11997 2RI WD 9P NIRRT 2INNRD 007
DEPRT DR R N0 'R T2V RIT PAYARR 1PD MMRPTY PRI 29 STINRR RVPT
D K27 PRD MR WIN2T IBRD MWIND ORI W7 B'Y X299 "D XPOD KD PUOIN
MUYAWD AP RPPTH A7 RPT ORI IRD2Y PHIIRD 119777 RRp PD 010 2wn
MR 2" DIODT PN 2DYa MW BT MITIAY 22 DIDDT 1Rk ROWY MR

2T 'R TTava

1997 5" P "0 WD BOPIR IR NITIAY 227 R RN207 2" 10 mTiay '2a R ' Ta
RT793 17225 RPWT 2" 2anDR N1 WHDR DWIAT IRTY IAN 77ava bark mTay 'aa
23AP% 'OINT WA 1ARY 97O 190 PR KDY ORP 1MWHT RIANDK 190 pDn

1) First anTpn
a) mwn
1) DN 2ORNL? 2w s "oeRkpy nepn" and is wo
b) xn»93as
1) oM 9ws awen is "nw nxpn" and is also w>
2) Second nnTpi
a) °Rn "M says PRI WS 01BN
b) >0 ' says 05N QTR 1727 M2 AR
3) Third 7P
a) If inany one 1may a person first has a mw» mawnn and then has a »wH R5w 7awnn
i) 2°Xn ' says wa because his Pwra NwH was ws and PR WS 019N
ii) 01 " says 2100 because 0onI DX 1727 MR AR
4) Fourth mnpn

a) We established at >x7 1"7 that X2 who says 71027 X7& v nw? 1R holds that 2ox» "
says nwx 'k 0wn for mawnn during noonw

5) Fifth mnpn
a) mwn
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D100 MAWY XYW W0ONWW nod; RuMTRY |1

MWL ROW PN TomM 221 1wt wnw RU™MT 8D
kaleh)
D100 WY ROV MWL 0w | (RNYUXR) X907 XYM | 3
2100 AW WD KW onw XDDT XD | 4

("DRnY NXPRO™) DNV DORNPLVY WY | KD AT MawnT TR | 5
wa

6) N
a) NVIR by X952
i)  When the x5°07 xw1 of the 7awn (line 3) says 7109 w5 RowWY MWL Yonw

(1) Does the mwn deal with a person who had these two mawn» during one
772y or does the mawn deal with a person who had a mawnn of 1w during
one 772y and had a nawnn of mw? X5w during a later nmay

(2) If the first 7x of the X>¥2°X is correct 7°kn " can’t agree with the miwn
because 7°x» "1 would say 2w> because 1wRa 1w 0190 and PRI YL was
nws

(3) If the second 7% of the X°va°X is correct 7°&k» 'Y agrees with the 7awn that the
129 is 2100 because there was only a mawnn of mw> x5w for the second
nmay and a 127y is 7o if any 772y is 700

7) nmoownat vaR "7
a) Nwp

i) Why doesn’t the X3 prove from the qwnn of the mawn on line 5 (where wnw
DMLY XYY IS w3 because o RnY nxpn is wd) that the mawn can’t follow ™
7°Xn according to X2

il) because 7°xn " holds that where there are two mawn» in one 772y — even the
772y of nunw — the 17 is WX P 0190 and the Pwra WS here is a°xnw alone
so the case doesn’t involve D Xnv nxpn

b) y»en

i) Line 5 of the mwn can deal with where the person who brought the 1297 didn’t
say o 17v2) o°Rnw? and instead he pointed to a group of o™y a*knw and he
said “19KR7 vmw 2R

ii) So that in this case there is no wx" WY to be o910 and the case does involve
DORAY NXPN

8) proof by m»oin

a) it must be that 2°&» "y according to X271 doesn’t say WX 1w 0190 where a person
says 17K87 LMW 11

b) because otherwise
i) "MI02% ROX ALINW? A1KT IMRT K2TT KOOR TRD 7 7200 KT 797 N¥pn nnown kY

i) In other words
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(1) a xn>>2 that says that 2°&» " holds that 399 ngpn is w2 couldn’t fit with
7°Rn "1 according to a9

(2) Because for 7°&n " according to 82

(@) If the case is o*77v?1 o°711° the case ought not to count as 797y n¥pn
and should be w> simply because "o°%7y" that was said later is
irrelevant

(b) If the case is »n?1 0°9w° the case ought not to count as 2>y n¥pn
and should be 105 because "o°7mn" that was said later is irrelevant

9) x"wann
a) 7oRw

1) axn™32at:Xo A7 says that it’s a Mw ws that axmwv n¥pn is > and derives
from the 17 that w> axmw n¥pn that 797y nepn is also w>

i) is this the xn>12 that o010 points to as proving that 7°x» " holds that there is
a case where 17 nxpn is “wa and for &2n the case must involve a person who
said o8 vmw "7

b) nawn
i) No
i) Because if this is the xn>12 on which mooin relies for its proof then msoin
would have referred to aw> nxmw nepn as the basis for its proof instead of to

727V n¥pn since we’ve seen that the 17 for aRmv n¥Pn is more of a mw ws than
the 177 for 777y nxpn

C) Rw

i) Why in fact doesn’t moin bring its proof from this xn>92 from nxmwv nxpn
that’s w2

d) mawn
i) Because it’s possible that this xn>92 follows *©1° 1 and not 2°x» "
10) qwni of mooin
a) Must be that mooin instead refers to this second &n>92 at :xo A7
1) Xn™3
(1) "9 1ML 09w 027pn WD 0°9YY 1M 0YTPN DRIR DR
i) X there
(1) ®wp
(@) Since 797y n¥pn is wd

(b) What difference does it make whether the person was o°>1 o>7pn or
0°77y 0*7pPn — the 3297 should be 2w> in both cases

iii) Now
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(1) "o anr" is 7°kn " and obviously the ka3 asks its &*wp because it assumes
that 2°x» "1 holds that 75w ngpn is w>

11) qwnn of the & m3 on the X2k of X9 27
a) Nwp to x99 27 of "KW 1»n 00 R

i) x9°07 Xw*1 0N line 3 ("0 MwH Row mwH wnw'") must refer to one 772y So
that the mawn can’t follow 7°8n '

il) because if ¥5°07 x> on line 3 refers to two mmay it’s the same as X2 77 k90
on line 2 ("nw? Xow 121 72001 mw wnw") that directly refers to two mmay

iii) so this ought to prove that the 7awn doesn’t follow 2°&n "
12) mooin at mMmay a KR "y
a) Nwp

i) maybe the mawn is in fact consistent with 2°x&» ' because the xo°07 xw1 as well
as the xw7 xo°0 both deal with where the conflicting mawn» were made in
separate mTay

i1) and the mwn needs to set out the xo°07 xw™1 as well as the xw7 &0 lest
people be ¥ and think that

(1) in the xw>17 x9°0 the 0°%v2 was ano vmw and had no ywH 7awnn

(2) and the reason that the j21p is 709 is that 10 217 where there was a
mawnn of ymwh Xow that nPnn (the starting nv nw ano) was also 1w Xow

iii) So the xo°07 Xw" is needed to teach that the 1297 is 7100 even where the first
7aWnn was ek X072

b) y1nas explained by R"wann

1) it’s not 1anonx for 7°&kn " to hold that in a case where there are two separate
mTaw and the ap>1 is WS Xow that

(1) the 129p is 2109 where the v nw was ano and
(2) the 32p is 7w> where the mvnw was ww>
13) R"wann at *x7 7"7
a) mooin implies that we can accept for 7°xn " that

i) If during the one nmay of v nw there is a ano nawnn followed by a nawnn
MY XYW the 1299 is 7109

ii) If during the one nmay of nvnw there is a X772 mawnn of mw? followed by a
MW XYW nawnna the 1297 is wd

b) This is consistent with >»1 X277 5"7 MooIN at 1RO A7
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NITIAY 12 Xn'7'R 0" TN

"D MITIAY '22 BN VXN KD DIDD MRT RTOT 2797 "D MITIAY 22 RO OR 1''Ta
2 PonR R"'Y VTR KUK DOD KD RTOT 207 1APD 7790 ' Dw i b W'y
NAWRR PRT MWDT TTI RTOM 27 19DR 2997 2WH P12 DaR 21N 2" 1T 2Ny
VTR WK NITIAY "2 1T RO MRPT MITIAY '2 1 RAPIRD RO P02 PUOIN
NAWRR PRT QMW MRPT MWDT 702 71T M1 RTOT 277 PRSIRY ROW 2011 1PUIRD
WHR NITIAY '22 YRR KD PUIRD KDY PRIIRD WARWT 2wh W P2 PYOIN
VHIRD TR NAWTAT TUIMWN FTIT YRR "3 PUDIRD ROW W 90 PRl XY

IP'ITY TRIRD ROW 27T 901 P KD WM NYRA 1HDIRD ROW AR

1) nn7pn—R0a by mipon at 19 wnw "7 on .xo 77 of the Rk min of a npYonn
between 1127 and X701 29

a) 721 and x7om 21 agree that

i) A 29pis wa if during spear there is a mawnn that the 171 be 199218 X5w or
for o°%v or for PxnY

ii) because "7p>1ra 1Yo nawnn PR" and all these cases count as "1°2238 nawnn"
b) but

i) &701 27 holds that the 1297 is D109 if during mwsm there was a nawnn that the
7771 be a 1790 for 190X Xow

i) While 721 holds that the j27p is 2w> because 1p>ra 19238 nawnn PR applies
also to this case

2) Second nnTpi
a) If one nmay is 7Moo it’s a mwws that the entire 1277 is 2109
3) mwn at .xo a7
a) WD POIINRT ROV 19N Wnw
4) xmxat.ony
a) ToRw
i) The nwn itself says that the mawnn for mvnw was 122182 and was a w> 7awnn»

ii) Is it possible that the mawma for vaw? 85w was for P91 that’s a different 7712y
and was 192182 KW S0 is a 2109 nawn that isn’t counterbalanced by a nawnn
qw> in the same 772y

b) nawn

i) 77IR3% not

ii) because we’ve established that if any one 772y is 2109 a 127 is 2109
c) 279 of the & nax as explained by m»poin
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i) It’s possible that the 1277 is 7w because the 71 nawnn isn’t 019 even
standing alone because np> 12 19218 nawnn PR

5) mooin at .o "7 as explained by X"wAan

a) Based on the mnipi it’s obvious that for the X»x mi7 in 727 and X701 27 the 129p
would be "w> only for 727

b) Because
1) the mawn obviously deals with where the 71 nawnn happened during nvnw

i) And we’ve seen that X701 27 in the X1k 717 says that the rule of nawnn Py
TP PR isn’t won where the 7awnn happens during wenw

6) X"wann
a) noRw

i)  Why does mooin assume that the 7awn deals with where the p°ar nawnn
happened during fvnw

b) nawn

i) The words "1"9218% X5 1907 wnw" imply that the mawnn of both "Pox5"
and "y92x% Xow" were for moonw
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10 T
v X791 mvy? ionuw noo n"1n

2N 1D MAWHY Mwh RO 199K vwank B "o nes 1''72 [2 Ty © 07
AR RPN RAWHT T R2T VDT N2 2"RT PP Doy »''NT R2WR 9IBN vaT
NOPAR 77 LIWDN K NOR RANDA 799 PIDAT 119D 1D 970 1D RO 79 poDnT
QWD W RANDH 709 PODATA TRMMAD ANT TR RDT 917 R2WR 1D MwH RYwT

1)

2)

3)

4)

A

First nnTpn
a) Innoo (Manra")

i) Ww> nod aw MW wnw

ii) 9109 nos aws RHW wonw
b) mawn N ARw2 At XOw

i) W> oMW awh XX MWH KW WY

i) D09 nod YW Mw? onw

iii) 9109 ono wnw
Second 7P
a) °D " says Don1 DTN 1°I2T7 M2 AR
b) =o&kn " says pwxI PwH 01N
Third 7P
a) Since wnra xHw if "ano wnw" the 127p is 709
b) It follows that that 13212 85w a v nw ono counts as w2
lah!
a) NVIN

i) if wara Xow a person is vmw

(1) first mw> that’s 010 the 127p
(2) and then 1w Row that’s Pwon the 127p

ii) does mwY Xow that’s 7°won and is the kn>ana prevail over yw? that’s 01 and
is the xn»np

b) n2wn by xan

i) The mwY X5w that’s °won and is the xn>>7na prevails over 1w that’s Y010 and
is the xn»np

ii) because
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(1) we’ve established that every 1ara ®ow 1297 is at first mw® anon that’s 7019
the 129p

(2) Yet
(@) if a person is later w5 Row wnw

(b) the vw? &5w that’s 2°won and is the xn>>1na prevail over the mw anod
that’s Y019 and is the xn»np

5) mooin

a)

b)

d)

TORY

i) for >0y " who says "o5n1 07X 17127 %32 AR" we understand that the X2 is
which 1w% prevails where each is o910

ii) But presumably we don’t understand the X°v2°x for =°&»n 'y who says 1w 019n
WX since PWwRA N here was ww? that’s 5010 and presumably only that nw®
is 09N

mawn
1) The x>y2°x applies also for 7°x» " because
(1) it’s possible that mw> isn’t 0910 even though it’s WRY W7
(2) because mw? as a H010 element is weak because it’s not 2°12a17 952 32
i) The meaning of o°nar %52 M1 1K isn’t relevant here
ToRY
i) Why doesn’t the & m3x also doesn’t ask the reverse XK
(1) Reverse Xy
(@) if \nra Xow a person is vmw
(i) firstmw® x5w that’s °won the 127p
(i) and then 1mw® that’s Y019 the 127p

(b) does 1mwY that’s Y010 and is the &n>1na prevail over MW X7w that’s
7°won and is the xn»np

i) and why doesn’t X271 offer the same n2wn to the reverse &°va°x that he gives to
the original x°y2°x

Twn
1) The reverse x°y2°X in fact applies to *o1 "

ii) But it doesn’t apply to 7°&n ' because the 1w 1w of w2 X5w is a strong
awan for mwa ROw inwnta ROw as moaoin will explain in the next M7 so it’s a
muvws that the 1270 is w>

6) R"wann

a) Nwp
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1) The n2wn to the original x°y2°& was based on the 7 that ano nawnn as a
XN>>np counts as wwh nawnn and is overcome by ww? X5w as a Xn*n2

i) Why did msoin in its xwp assume that this 17 is relevant to the reverse xva'x
where there is no case nra X?w where a 72wnn» ano counts as a XYW Nawnn
mwY and is overcome by a &n>-na
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D'NATA 702 AN 11'X DY INY72 INKN XNA

YWD AR KPR RIT PTRTY W 1D 29727 952 A7 MR IoR 1Awha TaRn "R
TR 2ORWTPT 902 AT WATE 1ARDT 1MDT NNWITY KA QTR 922 AT N Ml
Bo2 AT IR AT ROW 1RWD ROW 1''57 2OMWTRT D02 ATIT MWD RO 2T RN
ROBN RNDR 79IDT 2w WO 2WTPT D2 AT MINW 1D 2T RINP KD 2R
YARD SR KDY 29K 2OWTPIT D02 AT KUY 0D AT MWD ROW anT RNMRpa
WIDPT 11T RPWT 1A AR 20T 952 91 M7 RITR 9D DY AN 701 IPIERY X2
B2 371 9N A1 RATT OD DY AN 7O MPIDRD MRS ROW DR 2OWTPT 952 AT IR
NoU2np KD 117272 RO 17009 1% RPWT 1200w '0I07 1272 1100 R N 2wTpn
2R AT K2R 19BN 9 ROpanp 1777 KR PRWKRD D 2150 IRTIT RN S
79297 PIBRD 1AWYH DR PWOAY 2OMWTRT 922 T IRT WP 1D RORT XNMnRpRT
PO AR WY MWD RPW FIRTIT DY 2OWTRT D22 AT N 1 RITT D BY ON
Y ROW ROR MRS KD IRUT 7ODR TN IS NP 9T 2MTRT 902 AT NN

P72 awh aveyab

1) First nnipn
a) Innoo ("anra")
i) Tw> nod aw® Mws wonw
ii) 9109 nos aws RHW wnw
iii) 2109 MWwS KOV MW Wnw
b) mwa N ARw2 A XHw
i) W2 DM WS ROR MWD ROV WNY
il) 909 nod YW nw? Wwnw
iii) 700 ano WY
2) Second 7P
a) mwn at :v1A7
1) 2109 MW MWL ROW 1T W
3) Third fn7pi
a) °0Y ' says 0ONI OTR 1°I2T WA AR
b) =o&kn " says W WL 01N
4) Fourth fn7pn according to the xonx mi of R"wAin
a) na
i) ww> X5w that’s 5019 is o°7X because it’s o°nar 932 Y01
ii) ww> that’s °wan is 0°7X because it’s 0°1217 922 PWHn
b) a2 XHW
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i) W that’s 709 is w°9p because it’s not 2°narT 731 Y01
ii) ww? Xw that’s 7°wan is w7p because it’s not 2°nar7 932 WwWon

5) X

a)

XOVR
i) if wnara X5w a person is vmw first nos Hw wws and then mws Xow

ii) does the xn>np of w5 that’s 01 prevail over the Xxn>>1na of Mws X5w that’s
PWwIn

b) nawn by "7 29
i) Since the miawn teaches that for 1mra the &xn>np of ¥w? X5w that’s 0 prevails
over the xn»1n2a of w5 that’s *won
ii) It’s manon that for 1mra &5w the xn»np of mws that’s Y010 prevails over the
Xn>>ana of mws X5w that’s Pwon
c) xwp by "n '
i) It’s possible that
(1) the reason that for nra the xn»np of 1wH Xow that’s S0 is 121 over the
Xn>>1n2a of 1w that’s 1°won
(2) is that 112 the ®n»np that’s ywh Xow and is Pwon is 279K
i) While for wnra x5w the xn»np of mw? that’s Y01 is w°%p and doesn’t prevail
over the xn>1n2 of w5 X5w that’s °won
6) X"wann
a) Nwpto "n "
i) Formnm
(1) Tt’s true that the Xn>np is 7K
(2) But it’s also true that the xn»1n2 is also 2°ox
(3) And the end result is that the xn>»np prevails
ii) similarly for v x>w
(1) It’s true that the 2010 power of WY that’s the Xn»np is wop
(2) But it’s also true that the 9>wan power of w5 Row that’s the Xn»1n2 is also
vp
iii) So
(1) »»>7 27 is correct when he says that also for w12 x5w the xn»np ought to
prevail the same as the xn»np prevails for 12
b) Possible y17°n

i) "»n7 " holds that

46



(1) The xn»np prevails where both the xn»»p and the xn»1n2 are o°ox

(2) It’s possible that the xn»np doesn’t prevail if both the xn»»p and the
Xn»In2 are voop

c) Possible y17°n dismissed

i) moown said in the prior 1127 that it’s a M ws t XM "1 says PRI N 01N
where 1112 X5w a xnnp of mws X>w comes before a xn»1na of mw>

i) Why so if they’re both w5p
7) Final yy2n of X"wAmn
a) Contrary to the 7vw in the fnTpn

b) mwY X5w that’s wara ROW Pwon counts as o°9x because all o nar other than oo are
Tw3 in a case of MW Xow and it’s not relevant that they’re not awh 2°ova% 77w
man
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'"nn% "'HNIX ypnx 2t

"pn RO "1 PRAIR AR "D MTIaY '7a a0 PR R "D PPN wpPnRY 7''Ta
200 AR PUYY 72 0D PUIR N2AR 1PN 1D RN BY mTiay '7 b B''wann
BaR 9''oy MDD MI2TP INW AR 29V NIW RIT AR RPN 790 RPIT 7O 28 1IN
AWH DI0D 23 1D WK MITIAY 72 KON 5 YRR XY '0107 12w mTay 'ta pwb
MR PR FIPITR ROR T RDPT 2°9Y2 MW DIR NITIAY 172 N7 PRYRR TARPT
1 YRR KD "2 90D MM N2TR INRDY MIARPT NI RIWDY YRR mTay '
23 TOVINR RIIT T A0S 23 RIPY 79 TVIR KDY PITD 1 MITIAY w2y b0y
19957 17937 RDR'T 2'WNIDR TMINDD 11927 2R N1 297217 P''D ANTS 20y oD
2WOMA 1Y 1MIRD KD 10D PANINRA MRP FTIND WIS DY awsma avhya Nnw
MTIAY "2 INWa 7577 7392 TRNDD RIT IPINTA 29U NI POVT 90D AR WY
TP NP RN 2IBYD NDW TT PURD ROW DIDDT RTIAY 770202 IR 700172 1M
MTIRY "7 952 371 PHDIRD ROW DIDDIT KM 1MIRD RDWH 1PHIRD K92 wPNRT 1199
R 12997 299Y2 MW WIITT W MITIRY "7 90D 1 NP INWAT T wnn
INR2Y 25YH RAT TODAT ROR NP INWD 1OD P2 2P MW PI9IT IRT PR
ROR RPI7 IRD SAKRPT 190DM 2977217 P''D N7 UARTD MXRY RDKR R Nuanp
ROR 2992 MR NP INWD MRP KD RTIADN 9192 207 ROTI JIVARTD TINNRD
MIRT 2IDYR NI T T IRYD 193D RPW VARPT K27 13700 RINY 2''wNmD A2
IR VI RPITY 002 KPR IR ARDT 199127 RO 1971 10 VMR IR PO KON
"DINT W' A0 29T M PPT DI RN PO KON 109 TRapa 1T MTaY 72
DM RN N7 MTIAY 72 190D 1PHDINT MY W2 INMIT PR NI PRY Japh

TP'TY PR 'OINT RS PNt RSN DA PRT RV

1) 'R nnTpn
a) A oo teaches that muonw for »nh Xow is 9109
2) 'annpn
a) OO IS MInH wpn R and that’s why "1PH2IX% ROX vnw1 noo7 PR
3) A nnIpn
a) TUTwA ROX PYIIN NAWNN PR
4) "1 n1pn
a) The four o7 mmay are v nw then 772p then 79717 then apr
5) mnnipn
a) X at the top of .xo A7
i) The 5109 of mwH x5w ("w7p »w") does apply to all mmay 'y
ii) The 909 of 0°%va »11°w doesn’t apply to all mmay "7
6) moown at wpnery A"
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a)

110077 [1°937 2109]7 M7y 725700 1112 1 19 OR ['R XWIp] M9 Rvn -10nh 1PHIIR wpnR
TR [ XRWIP] MTaY 7219090 [1PnY WRRRT] PR AR 2°9va 1w [Sw 7100 1NK]
7112 1709 71 NP

7) H"wann

a)

b)

c)

d)

PN
i) Mmoo seems to assume that
(1) the 0o of vn? xHw is the same 700 as o¥hva "rw

(2) And that since the 2105 of o%v2 »rw is "mmay '12 uw>" it follows that the
51090 of "In% Hw is also M7y 72 e

(3) And as a result the 9109 of 195182 X7w that’s wpn X to v R5w also ought
to apply to n7ay 'v

Xowp
i) We’ve established in the X3 that °%v2 "W isn’t m7ay 72
'aRbY

i) In fact 2%va »w applies only to 7p> 1 N2y because *"wA explains in 1w "7
0°%y2 that "X17 P 2 0oHva W Py

i) And m»soin intends only to say that
(1) The ?0» of np>12 o¥Hva "w applies

(&) Where during the nip>7 itself there was a awnn that the P> be for »rw
apipliial

(b) Or if this mawnn occurred during 722p or 799171 but not during s
(2) While the 5109 of 1p>ra 111ma ’5w applies

(@) Where during the np>r itself there was a mawnn that the np>ar be for xow
"1In° — X"wAnan sometimes refers to this 2109 as "a7n% apoar 09"

(b) Or if this mawnn occurred during 1%2p or 79717 or during oM
iii) Mxopa
(1) For o2 "w there’s a 700 for "np>ri Yy mmay whw"
(2) For v Xow there’s a 700 for "np>ari Sy m7ay 1"
(3) For mw? x> there’s a 2100 of "wnn m7ay 7"
Now
i) The 05 of o*ova »ww for P> 1 5y My whw we know x12on

ii) Since M X5w is the same as o°%v2 »11°w we derive from 0°%v2a "w to Mns Xow
that also for 1% X5 there’s the 5109 of also >3 Py mTay whw

iii) ™Mb Xow differs from o°%va »w becaue for o°%va 1w there’s a Tmn 7 that
teaches a m10o for ap>1 Yy nvnw
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e) This is why maoin asks
i) Firstxwp

(1) The o5 of 1927 x7w should apply for a1 By mmay '7 since 1YW is
A% WRnIR

(2) So why do we generally assume that v nwa 19218 nawnn PX
i) Second xwp

(1) why don’t we derive np>1n by nwnw also for the ,oo of ooy »w that
applies also to ni2p XY

8) X"wnrn - nrwip to the Mx0a by "wamn
a) First xowp

i) The nw> of mooin that "m7ay '72 %00 1Mn" implies that Mmoo means M7y "1
wnn because this is the same 1Y that the X123 used earlier when the xn3 said
that

(1) mmay 72w wp v
(2) mmay 72K oHva W
b) Second xwp

i) The nw of mooin that "209° n1 [miaap] axwa" implies that in fact axwa 109 RS
P01 5V N1ap

i) And this isn’t correct because
(1) As>"wn was won it’s a M ws that there’s a 2vn for AP Yy mmay 'y

(2) And mooin should instead have asked that there’s no need for a T1n T
to teach that there’s a 7109 of P> Yy qvnw

c) Third xwp

i) In fact why does mooin ask that there’s no need for a rn 7w for v nvnw
TP when a Xana in oonar noon at @7 77 says the 7% is needed to teach that
this mawnn result in an 212°v for nos 127p

9) X"wann —r0a of the nywnp of mooin
a) First TP

i) Infact ap>ar > Sy mmay '7 are 9109 both for o°%va »w and 1Mn% X>w and nvoIN
asks no x>wp on this 7

b) Second nnTpn

i) Moo in its Xnx M held that 1% X5w is in fact the same 17 as o°%v2 "W so
that whatever is m05 for o°%va »11°w is 509 for 171> X>w and whatever is 9105 for
"In% RO is also 91oo for ov5ya nw

c) Third an7pi

51



d)

e)

f)

i) mooin realized even in its XK M that the xanx holds that wnn mmay "7 doesn’t
apply to o%ya "w

Now
i) nmooin assumed that the 71 7% in our X>»o for aw nw for 1"1n X7
(1) Doesn’t apply to P11 v v nw which was the fvw of "wann

(2) But instead applies to "n7in? nunw 209" where a person was awnn that the
moonw itself be for vnh Xow

i) moon also agrees with >"wn that °%va »12w P>y is for Mns xow
(1) And since we now assume that 2°%y2 »1°w and Min% X5w count as the same

(2) it follows that for 1111 X5w there’s a 7109 of 772 ap>a1 as well as a 7100 of
mne N

iii) moown reasons that the other two mmay should also be y7»>7in% 2109 with the
result that there be 1100 for wan mmav 'y

iv) and the xwp of m»oin is in fact why does the & n3 say there’s no %109 of '7
wian My for manh X5w as well as for 170185 R5w that’s wpnX to 1"11n% Row

Xowp

i) How can msoin ask that we derive 7% ap>r from o°%va 1w when we know
that the 9109 of o>%va »w is only mun?

'aRls!

i) moownisn’t P77 and in fact mooin asks only that we ought to derive from »w
0°5¥2 to In° X7 that there’s a 77m% 71 7100 for mxny

10) qwnn of mooin

a) 117°n to the x*wp of mooIN as explained by R"wain

b)

i) 292 "W isn’t the same thing as 1M1n% X5

ii) It follows that the 777 nwonw 17 applies only to Min% X5w based on the 7%
7ron for 1an X5w and we can’t derive from n° Xow that the 3702 nwnw 11
applies also to o°%ya "ww

Now
i) The o°%va 1w 7 applies only to 777 ap>7r and also to other a1 >7° Yy mmay
i) And

(1) even though it’s correct that for nos j27p there is also a 2109 of 77 7p>1

(2) that /o5 has nothing to do with 111> X%w but is based on a separate 1>7 of
o°%y2 W

iii) it follows that for 111n% 85w there is only one 7% 9109 rather than two so there
is no longer a ®wp why we don’t reason from the two ¥1>7n% 12105 that there
ought to be four 7% 10
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11) qwnn of X"wnan
a) X°wp both to "wann and X"wonn
i) How could m»oin even consider that the 7105 of 12185 X5w applies also for
ekl
i) When mooin at ywonw 7"7 on this 7y proves that there is a n°% that nawnn X
7P°Ir2 PO
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INO T
XTon 21 n"T1n

5% 11977 B''op IPIMTa Y9 % [923nD] KD Ro7 DaR "1 R7OM 20 11''72 [2 TNy RO 07
"WaT NP DAR NRPR RDY 00D A9 I PR A1 RTOM 2997 PO0RT NNBNT
nY PRINAD WM NT 90D A1 YN NIRRT RTON 279 ROPODR Iaph mmb
D721 WST PRI 2OWPH WA Sinnn w''R WP 2997 PRI 12 Mpanw
SYaT INMY DaR A2 VDT WK 29 POORT IRAY NNART DY ROTT RTOM 297 2wNn’
DO R''Ya ERT RMATD D7 RTOT 27 DOID M1 29V NXPRAT RPN N

TP RTOM 27 DO PRI 299 12

1) First nnTpn
a) 177w nepny wnw refers to a mawma during v nw that the nwonw be for o297 o5

b) np>ar for AW 910 refers to a mawnn during nwnw that the awnw be for oo but
that the later 3p>71 be 1931 only for o9y

c) ap>r for 797y nepn refers to a mawnn during nwenw that the nwnw be for o> but
that the later 72> be 2927 for o°91 as well as for o7

2) Second TP

a) See the following tables on the muw w of the miawn and also of x7om 21 both for the
xR M0 of the X and for the xapon of “wx 29

X"72 X707 20 mwn
DM P NDT WD | 2N °2°NDT WD nXpnY aunw
hicksl7aRakrRiial aiehisi7mBatriial 9w
v X77 9109 vIw K97 900 | A9 Ak quvnw
WY 93 2N P 9o onb

'on X707 20
°911 93°NDT WD
vnwa 0o
Y X927 9109
Py 9o oo

2N M7 WD
fakrinivalakipd}a
AL

7777 wp M 9100
°7931 0¥ °3°nd
zamir}

n nvnw]
TP [hooh n'y
777 n¥pnY

WAWT D377 20D
X7 n"n 0mb
979 0¥ °ND

NI QX7 2100
X2 n'"n 2me
29991 09917 %°nd

oy 029nh nunw]
7P 1[2 1957 N
el il

ap P

3) mooin as explained by x"wann
i) Partl

(1) The mwn that is 2>wan for 797y n¥pn? nwnw because o> and o°%y are
°3°ND IN YNWY Nawnn

(a) is consistent with x7or 27 for the x3pon of *wx 21 who says that np»r
779V NP is Awa because o°71m and vy are v 09 in vnY Nawnn?

(2) but isn’t consistent with 87011 21 according to the XK M7 who says np»1
nxpn? is 9109

b) Part 2
) xwp
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(1) 727w 7997 aper should also be aw> because the mawnia of o¥owa for oo nw
should be *>°ns with the mawnn of o°%w for ap>r

i) yrn

(1) We’ve established in the tables that "2°n2" applies only to two mawnmn
within one nmay

4) X"wan
1) Another xwp to the xnx mi7 of the X7n3 in X707 29

(1) Since 757w nxpn is 909 for this v w in X701 27 even where the nawnn
a1 was for o2 as well as for o°5y

(2) why didn’t X701 27 say So outright by noting in his X n°» that a 127p is 9109
even if 7w nw nywa a person is aw°n that the °1 be to 193n for o°%m as
well as for o>y
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Nn'n D1 a"T nivoin

"D TR [R1 9097 112 KPP RONTT 1190 R cn o e ' "oy '
nRoMD RDINT 790D IRTIT 192 FPIDOD ROV 9P 779102 UIRAT WP yrwn By
BOp® 'DIN5T 1A WA DIDDY K17 1DDIND RO D902 a1 2990 10100 9N bR
TR ROWP RIRY 107 1IDONW 2"'Ya AP 9192 90D R FIPINTR KUK PIDDD ROV
2990 2WH P2 WITT PO POUDIR NAwWRR PRT KPP 7129 P07 P00 1w
%Y PO LYAY NRTT RUVIPIM MWK 2997 77299 790 TIUINR X2 2R o w''ae
NAWIR 772 WOT RIVAMT VIR 09MY 2T 95572 DI10DD 30N RoTIAT 10 10N

By PR

1) mnpa

3)
b)

mwonw for 797 7910 means the nwenw is for o°%y only

P21 for 9w 1910 means the mwenw is for a1 with the mawnn that the ap»ris to
be for o7y only

2) xnx M of the xnx as explained in ywonw 5"7 Moo at .xo 77 10
a) Xn2y 210 agree that nuenw for 77y 7910 is 2109 becaue "01on 175R *o%" teaches that
the mwonw needs to be 1°9218% and 0°%7y don’t count as "193R"
3) ®n»92as understood by 127 in the &°nx M of the k)
a) From 9w %> we derive that although 797 79137 onw is 9109 still 797w nepn? wnw
IS w2
b) aoxw
i) Do we derive from 797y 79132 nwenw that 75w 7915% 7P is also 201
c) mawn
i) "nxn" teaches that
(1) it’s only 797y 77132 AV nw nawnn that’s Y019
(2) But np>1 nawnn isn’t 2019 even if it’s for 797y 7715
d) "oxw
i) 7T X9 RN
e) 1awn of 7an
i) "mpOra PYOW nawnn PRI
4) mooin
a) Nwp

i) Since np>r is °p because P12 PRI NAWwnH PR

i) Why is it that without nxm we’d have derived from 79 7915% nwonw that np»r
9w 7910 is 7100 the same as wnw
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5)

6)

Xn»92 as understood by *wx 29

a) Were it not for nxm we would have thought that because of "7y 521" a mawnn of
779y nxpn is 2019 both for v nw and for P>y

mooIn
a) Nwp

i) How could we have thought that even 797y nxpn is 701 for ap>r that’s 2°p the
same as for nunw that’s

i) So why do we need "nxn"
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'"\Iin 'xn XN D1 AT Xnal Xann and At Tn

9P NIPR VYRD VIR DRTT X PaAR 'O "D bon pInw® "o X1 ans a''Ta
TAT NXPMR IR WDT RIAY NXPRRA TOD DI OR 7OV TP T IND NRT ORD ORT TUIRa
ARl 0

STIMRIT ORMY MNP KD IRAR PR 12 DD yapn ROT RONTT AW ORR N "aa
NI 9R2) 90D 77299 MRPT ROMIT API2 KOR 290P2 MW nawnn PRT AT
NIRRT PIRT IPINTT RAW 2IWRT 2% w0 10 IRIITR PUSIN AR PRT APOIT
V2 RO TTORD 77277R K707 279 2957 KD 7WAWa KDY IR KUK 2vpa w
VIR KON PO PODIR NAWAR PRT IPIT KR 2702 7002 b RONT

2'ITY 1D DIAD papn KRBT RNYINR KNSR RO RAWT RRP 00T

1) mnpn

a) N nepn wnw means for example that the mwenw of the noo 127p was for o xnw
as well as for omw

2) Xn»2

a) Partl
i) It’s a muws that a nos 127p is Ww> if kML NXPR? WnY
ii) It’s a muws that a noo 1299 is 200 if a1 NYpn? wonw

b) Part?2
i) "oRw

(1) What is the 17 for o°%w nxpn? wnw

i) mawn

(1) ") 777 would derive from nxmw ngpn? wnw that the 1299 is 7w becaue
227y n¥Pn is more similar to ax»Iw nXpn than to a1 nepn

(2) "2 717 would derive from a1 n¥pn? yonw that the 127p is 7100 becaue nxpn
2°27y is more similar to a1 n¥pn than to axmvw NP

c) Part 3 - xipon
i) In order to decide between these two o°577 a P05 says "nxn"
3) XM
a) 721 is Ixan the Xipon of the xn>>12a this way:

i) 12 %58 R? 97w 901 teaches that the 127p is 9109 if yonw for 79w 7910 and the 1297
is w> if 777 ne¥pn? wnw

ii) 1 might have thought that the same 1>7 applies for >
iii) That’s why nxn is needed to teach that
(1) this is the rule only for a 7awnn for nunw
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(2) but if there was a 7awnn of o2y for p>1 there is the X21p that the j21p is
qw> even if the 7awnn was for 2257 7513

V) R
(1) moxw
(@) "aperT ’:P RN KD O
(b) Why does the xn»2 apply the x5 to P> and not to v nw
(2) nawn
(@) "apeara PO nawnn PRI
(b) The precise meaning of 121 P92 nawnn PR7 isn’t relevant at this point
b) X701 21 takes the reverse approach
i) nxn teaches that 79 nepn is 705 for 7p°71 even though it’s “w> for mwonw
i) And the xam7 of Pt is that P21 is 2100 17 vapn as *"wA explains
c) Xipon of the xn>>2 as explained by *wx 17

i) If there were no nx1 we’d have said that 12 928> X7 27v 901 teaches that the j2p
is 7109 even if either v nw or P71 was for 797y nxpn

i) That’s why n&n is needed to say both for mv nw nawnn and 7p>1 nawnn that
779 7910 nawnn is 2109 while 797y nxpn nawnn is wo

4) npon at X1mn1 a0 7"7
a) Nwp to WX 27

i) If 551 would teach that even 1727y ngpn is 2109 but this teaching is changed by
nxn why does the oo say %21 in the first place

5) X"wannat an> a"v
a) Nwp

i)  Why doesn’t m»aoin go further and say that if the o5 hadn’t said %51 there’d
have been no need for the 105 to say nkn

b) y1n

i) Even if there were no "53" the nxkm would still be needed to be vws that we
don’t say that 797y nxpn is 2100 based on comparing it to 11 n¥pn

6) X"wAn at AP T e Rn R 01 'Y
a) Xwp
i) To answer the X*wp to X701 27 that "7P>7r7 "0 *RR"

(1) Similar to 1721 who says the x51p of P11 is based on the rule that on px
P77 PR NaWwnn
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(2) Why doesn’t the X7n3 say for &7om 21 that the X~ of np»ar is that nawnn
0°%va »rw applies only to p°r as MmvoIn discusses at wpn ok 1"7 on 'R Ty

b) v
i) That xamin of a1 is offset by the x93 of np>a1 that 721 brought

i) And x7011 21 wouldn’t have disagreed with 727 unless 77°71 had a different
sort of X altogether such as 7o vapnT
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20 97
"2 D Aa"TN

TIRWD RNWTT RODOR YRR RI201 12 X2 1257199 nv% 95 11''72 "0 [N 7y 20 07
KPR 93 2990 K927 7190 RIT7 NoDOK YRwn X1207 9''1 9oy "o ;7hop KD Pun
BI0DT R 99T AT URT 1120 R 1145 DAY 2990 NAWTAR IR 10N RS
NITY RDT MRS ROW2 B0 2990 nawnm 2R 2992 WK Punh R4 nawnn
SBYan 'R RUT MIPUR 'OINT 72T DY ans Mam 2990 nawma 1792 BT 1Manbn
27 297192 0N 9727 90 1R ANYTY R 2''OY 15 anmvan Y 7N 19 AT 201

TP 12N 1D 2NN B2

1) First nnTpn
a) mooin at oM wnw 7"7 0N .KD A7

i) If a person was 111> vmw with the mawnn that 12112 128w be 19201 with the
P

ii) The ,os of o°9va »1ww applies to the 127p

7 1|7‘\]' nw
1R OYYR 2100 713 1R fakipdle) A lakvalal
o°hy2 MPWIT 1IN
»wn
D97V Dvun 2109 IR [ Nrinhiis N jalrdla)
w3 IR TR fa R hiis RRA) jalrdlal

2) Second mnTpi
a) 121 according to *wx 27 holds that
i) |If
(1) 729w 7912 12137 P72 1DINW NI DY 10 1MT N
(2) The 127p is 709
i) Butif
(1) Pan PRY P9I R 19N NI DY 1N 1IND WY

(2) The 127p is "w> because a case counts as o°va »1°w only where the new
D°%v1 are 77 X°M17 in the sense that they’re 7795 12

3) mooin as explained by x"wann
a) Nwp
i)  Why would 727 be 5 more for 1112 18w 2297w than for 1n xw 19 mn
b) v n
i) We just explained that o>y don’t count as 1112 1R
c) Nwp

i) the xmy of 0%y should alone be enough to be 010 the 12p
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ANNIV XAV 'Rn A" Th

BI0D 177 10 TATR DYV ARIT DR A1 923 IRPIVT V'INY 10 ANMW W' 1'7a
T IARP KD ORMR 10D 'R W2 NRMPIVA M1 RDIVT PI0NRT ORAD "'oY "1 mawnm
901N BRI 7AW DI0D KWW TR 1AWNRR 0D AR PITT T TV T2 IN ROD
NT23 IR2W O9PNIT '0INT NMWIP oK ROTD TR JNNR 2''YT 12 RDT w2 R

'™y 10 T RPN

1) xn™n

a)

b)

XU
i) Here are two opposing N1720 on 7377y nxpn
(1) nxmw nepn isn’t Y010 a 127p and 777y n¥pn s similar to axmw nxpn
(2) a1 nxpn is B0 a 127p and 27w nepnr is similar to 11 nxpn
XD
i) First 117

(1) Tt’s 12non to be 777w 7 to aRmIv and not to a1 because axmwv and T
both don’t apply to other a°nar while a1 does apply to other o°nar

i) Second 717

(1) It’s nanon to be 797w T to a1 and not to nxmw because jar and 79y are
both 19937 a1 82 while axmw is 19921 i

2) X

a)

b)

TORY

i) For what sort of ixmw does the kn»92 say in the Xwn that it’s a v w» that
XMV NXPR 1sn’t WD

Possible 7a1wn

1) The xn>92 in the xwe" refers to »M2x Nk meaning there was a mawnn» to be
vmw the 12p for o w as well as for Prav

c) Possible 2wn dismissed
i) Why is it more of a muw»s for *12x nxkmw that the 3297 is 2w> than it is that the
1297 is w> for A9 nxpn
d) xipon
i) The xn>92 in the xw»" refers to w2 nxmw where the 7xmMY isn’t based on
nawnn at all and is instead based on the physical fact that "a>2°%n 17 noR"
ii) it’s a muwo that this sort of nxmw n¥PnH isn’t Y010 the 127 as a whole because
"D 199K TR DY J100W NLIRT ORI
3) mooin
a) Xwp by X"awn
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1) Once the & na establishes that it’s a mu ws that awa nxmMv NXPA IS Ww>

ii) Say that the x> deals with *723 nkmv and explain that it’s a muw»s that nxpn
23 XA IS > by way of 7% from wa nxkmw nepn

b) yynof "
1) The &n>92 doesn’t derive the 17 for »323 nRiaw from “wa nknw
i) Because it’s more 72n0» to compare
(1) »2x nxmw nxpn where the 7109 is derived from 7awnn
(@) to ya1 nxpn where the 5109 is also derived from mawnn

(b) than to wa nkmw nxpn where nxpn of the nos 1297 is kv as a physical
fact

4) R"wan
a) xwp to the yyon of >

i) Now that we’ve established that a1 and 75y are similar in that they both
depend on mawnn

i) why doesn’t the Xn»92 set out this '3 797

(1) It’s manon to compare 727 n¥pn to a1 nepn because they both depend on
mawnn

(2) Rather than to compare 777y n¥pn to w2 nR™W n¥pPn that doesn’t depend
on 7awnn
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220 7
NI X7 A" TN
5oy "D DINYT 25D 22 2% AT W0 PPRT "D PN XD 7''72 [2 Ty 20 7]
1737 DIRYT AR KD RIMD IBR anT 'OINT WD BB KT 7N B and
NYTT 2R DWHTD WK IR 223 DR 10 BRI RORIAY ART 79D 280 Pan "1
AT PIMT IZIM DO "D RTOR 219 1D 77279 ORP RINT 27 2907 INTT WAL '
23 Y""2MDD K701 210 RPN IRP K97 RAOR) 771299 23 IRP 29072 ORI7T '0IN Hyad AN
12977 1397 BOD 923 PIRYT AR RAAWTD DD MART RIT 90 327 1N N
PIDMT TR RNMIINTAT X7 2''RY 78S 223 UOR PIRIT AN KD RNPINTA DaN
IND IR STWYR 0IMAD DINRAT AR I RD D' KD 27 PI0RTD RPN IN Y''PR
27 ROITAT 19D PIRTY WY AT TR 12 DINIT 230 2192 129 11T 07T PIRT 2wn
212 129 A0 YR VMR RODT ROVT RNWNINTA DIRWT RTOM 279 MKP 20
B9 TARP T2 DT W RWT PIITY 9IS 01 1DIN PINNT 190 N ORBRR 2''N
12'117Y 2192 0ITR INT 2192 120 KUK PINTT K701 200 B''H7

1) First nn7pi based on the v w of *wx 29

a) The m00 of o°%va 1w where there is a mawnn for 21n °xw applies only where
the new 12 1°RWw 0°%v2 are 7193 °12 the same as the initial 2°5va

2) Second nnTpi
a) 1M

i) It follows that the 7109 of o°%va »11°w doesn’t apply if the original 2°2¥y2 were
0°71m and the new o°%va are 097w

b) X701 20

i) The 509 of o°%v2 ">w applies even in that case based on "»x17" the o5y
could become 17193 °12 by 79

c) ma1doesn’t apply "> x1" here
3) Third fn7pi — X at 2 n A7
a) if a person is 793% on 2w o1 more than he will eat during 2w or
1) n27says
(1) the o isn’t mpon 2> for 2w ar N0

(2) based on ">°x17" he might be o°nmx 217 to whom he can serve the extra
"5 before 21w o ends

ii) X701 27 says the 79\ is Mpona because we don’t say "?°X17" here
b) xwp

i) The np1onn of 727 and X701 27 on v"va “oX is the opposite of the np o of 72
and X701 27 0N oo 1277 in the case of vy
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C) y™n
i) na7says
(1) o)1 doesn’t apply where there is nwyn 201
(2) Now
(@) for noo 127p the 7% that hasn’t yet been done counts as wyn 20N

(b) for “ax on v"y the 1 that hasn’t yet been done for future o°n7KR
doesn’t count as 7wyn 0N

ii) for x7017 29

(1) o>xm applies to be 01 the nos 127 because XM we say 2R even
where there is a nwyn 01N

(2) )1 doesn’t apply X?7p to avoid miphn for 21 o 71%9°1 even where there’s
No AWwyn 10N

iii) In short for x7017 27

'X X920 — X707 20
WY N01TR2 120K PRI RIX Riahisk)
AWYA 9017 1RTA I1OR DRI RDD RMPY

4) Fourth 7P — % n°% >3 7"7 mpon at .20 A7
a) From a X3 in 811 noon it’s ynwn that
i) First
(1) xn>7877 the 2% 17 doesn’t apply — even xvan —if there is a nwyn Moon

(2) 1t’s only 132777 that &70m 21 applies &M% )17 even where there is a0
nwyn and in fact the .09 of the nos 3297 for X70m 27 in our X*30 is only
12771

i) Second
(1) xn>7871 where there’s no nwyn 7017 there’s X7 even R2pPL
(2) 132172 we never apply X21p% 2R3
iii) third
(1) 7 20w counts as nwyn 0NN
(2) but o212 1 701 doesn’t count as TwWYH 0N
Iv) As a result X"wnn understands the complete mv*w of k70171 21 to follow this

1
i\ inii)
X"W777 N127 '3 X920 X700 N
TWYN N0 WYR N0 X3°HTa
DRI Y R2PY 1°OR DR RNPIINTA
R X7 R X7 iya)

5) xn>>12 of 7ryox "M at 120 A7
a) D°MYW WY NI 7AW 10O
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6)

7)

8)

9)

b) 2w wara Xow 100 nra nos awh wnw
Riab
a) Nwp by &17 27 to X017 20

i) 219K " should have been 019 the nos 1297 also wnra xw based on "9°x17" the
1297 would be D09 if a person waits until 1n1 before he’s 2°9pn the 1297

mooIn there at %7 "7
a) Nwp to X172

i) Why didn’t 82377 21 understand that X701 27 doesn’t say 2°RX11 where there’s
nwyn a0mn and a1 a0mn counts the same as nwyn (0mA

b) v n
i) X727 assumes that the xn>12a counts even jo0°1 7" at n>nw as AT KOW
i) And we’ve established that o212 a1 90172 doesn’t count as WwWyn T0IA
2"wann
a) X°wp to the x°wp of Mmoo in k> "7

i) We’ve established in '}k X720 from noo 127p that X701 27 says X "»xi"
even where there is nwyn 10mn

b) v

i) The xwp of the X3 that the xn>92 ought to rely on % &3 for wnaw 772vw nos
applies also to 727 and we’ve seen that 727 doesn’t say 2°Xy1 where there is a
ppii7aifalnlopigta

i) And that’s why m»0oin needs to explain that \n1w 772vw nos: also deals with
where the 121 790°1 is 012 12 and doesn’t count as wyn N0

R"w0N
a) Nwp to the xowp of H"wann

i) We’ve established in '2 X72v that it’s only 1312177 in a case of x> that 29
X70M says 2°X17 even if there’s nwyn 0w

i) and at :20 77 the &7 on 1w 772vw nod deals with a xn>»RT 17 that
according to the xipon is derived from the o°p09 and 2>71»°% mentioned there
by x99 21

b) xwp to the Y90 of "wn

i) There’s no reason for m»oIN to assume that the x°wp of the & nax applies also
to 7127 and to disagree with *"w1 who says the xwp is only to X701 21

10) wnit of ®"wann

a) Xwp

i) 2w ara ™o
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b)

1) presumably involves &n»xrT NI1P9H
y |

(2) and is at most a 012 12 a1 "0 because it deals with o°n1x who may
ajpmi i) ifa)

(3) and we’ve established that 01°2 12 1 7011 doesn’t count as AwWYH 10N
i) So why doesn’t X701 21 say X?P? 2K to avoid Xn»RT Mphn
PMT2 YN
i) We established in 'a X%2v that 112777 there is never X71p% 2Rin
i) When x70om "1 says there is mpon he means 13297 mpon
Final y1°n
i) X70m 27 disagrees with 1727 and says oK 11 does count as wyn 10w
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19122 17109 2" TN

N2 7 7on 'R Doy 12 170N 7N2Y RN N1 2%y MW 10 12132 190D 7' Ta
2D 29 PHDIRD R 1992IRDM 191D KDL 19112% 3721 7901 KD 17909 7N25 R''NT
PRT NIPR2 WD PHIIRD PR WRAR 1T MRS PHDIR WPNART POPH MRRTD

'y R W

1) mawn at w197
a) 2109 MWL ROV MWL WNww 1o
2) mwn as .Ko A7
a) W PHIINRT ROV 1PHIIR WNWW [0
b) 2w MIn% ROWY 11T WRYW noon
3) X
a) 7oRw
1) Why are the o°1»7 different in the two nyiwn
b) n2wn of a1 "1 as explained by nmsoin
i) The 2P is 209
(1) only if there are two separate o> that are 10
(@) The 05 needs to be 1912
(b) the 019 needs to be 1Mo X 7725 WoK X
(2) The precise meaning of these a*»7 isn’t relevant here
i) Now
(1) For mw? x5w mw both o are present
(2) For 1795187 Row1 19IR% and *1an RowY vianb neither o is present
c) 7awn of *wx 27 as explained by nmooin

1) "Mook 7725 wok K" and ™12 17100" are the same o713 because what is X"
"17I0°KR 9127 Twor automatically counts as ™93 Y100"

4) mooin
a) TP

i) The mwn at .xo 7 doesn’t include 2°9¥2 "wH ROWY 29y MwH among the
mawnn where the 129 is w>

b) xwp

i) for wx 27 this is understandable because "o°%y2 "wH RowY 29v2 WL is R
170K 7127 waR and so automatically counts also as 19132 17109

ii) But for 13m "3 the 1277 ought to be 2w> because the o of 19132 Y9109 is absent
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5) R"wann
a) Nwp to WX 27
1) PInD ROV 1PIR2 s "TIDOR 7027 TwoR R
i) Why does the 7awn on .xo 77 say that "% RowY 1117 is Ww>
b) v
i) The x7m3 on .x0 77 explains that M is 7100 by w7 to 1928

ii) Since nxnn? wpon PR we derive from 199518 where 1992182 X5w 190 is awo that
the same 17 applies to i namely that »nh Xow 1917 is also wa
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.20 =120 7T
N2 X XAl "7 o'ty "

1D 30 9XIa DADK Y0 NOKR 1A' RTT Dok B N2 o 2w aveaw 1''Ta
WS RIP 9207 9P NP JIOWR INYGT 2" Dopn v A''ea ORT P 'y
IP'IITY 2R WY N XM DADMAD D' IBRD WM N197 A IRINAT

NOR 2no2 »'"H7 1o DY "D B 7''7aY "D DUIPaY 297aTT 2" oMY 7''NA
PR TR0 DRI PAR 719 IPINT 3277 INKRD A1 RO TN PAvRwm oy "o
2I9YDY P9IRD AN RAPIRD R''R RO77 90D RDINT 2n02 179 3P K9 "D PRnb
RDWT D'RWR PO 192 999NDT 2O9PH AR MDY MDD D TPV M7 O''NRT
2999 AR RANDRT 29997 AR WD D TUROR KD 29910 RN 02 whnnT

I2'TY 0N WD NARY

KDY R''572 5729 273w57 29950 922 17" 12 2RIR RY 7720 MR KRO3[R TRy 0 07]
7Y VAR TN N2 92Y INTAT O R 010N K20 AT BT Dan n''hRa Xan
N7 N7 91002 RO "D MART R2WR N2T RRIIN RIVOH ORT2 KD AN JISWR KD
1> 2" ORT 77''72 DORT 'OINT 2T DaR 1297 5% IR By "5 R2aN AN D
RDR RAPINKA KD (X297) [R2777] RP1PT7 77 2w 'SW R''72 5727 Ko7 03T K772 7w
WERY WY "D aPnnn UMD IR BT pDT MaNY 72097 1o RanT NR2MN
1D K271 12 WMWY TN QIR 20 KW wRnaTa n''OR2 N2 NS WRTR
727 N2 IRITT 1D KD 7729 AR 1) 2T 777N ORTY RIT2 2R ART ARk wrm
DYAID FASRT PIIT T IORY MARD RTIRON WP 70 BY 20ah ManT 120 Nw
PATT NI QOWMDRT 092 1TV 22 12T ARPY 211N 2INTIAKRK RTIMADN TR
RN217 9227 MaART OAPR RATT RARPIR ATOP RTIAON AT PR N7 DY NI
S2TAT 12ND 2D 9D N2 TIRAY PRI 2OPINT 1997 50 WO T KD MaAR 27PN

227 R 7720 29950 Do NoNAD 1o 'O

1) First nnpn

a) 1127 in the mwn at .xo 77 say W 777y n¥Pr? wnw meaning that a nos 129p is Ww>
if 2999 P2 wnw or if P 2wk wnw

2) Second TP
a) &n»72of R - PR
1) xw™M
(1) The 129p is ws if 292 29m o27pi
i) xo°0
(1) The 129p is Moo if o9 m% 0%y ov7pn
3) Third an7pi
a) xn " holds that 7wy Pw? 019N
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4) Fourth mnpn
a) °xn " also holds that 2°nn >xn2 P23on
1) Namely
(1) a 12 yan nawna for any one of the two v nw *1»°0 is 7301 the 1277

(2) And a > 0o nawnn for any one of the two nwnw *1°0 is Y0 the nmay of
mwnw and is thereby 501 the 12p

i) It’s not relevant whether the 7awnn was for the first y2°0 or for the second n°0
5) Fifth anpn

a) »ax and xa1 disagree on the precise °19% where 2°kn ' says Pwxn ' 0190 for
different mawnn during the nmay of v nw

i) »axsays 0 7 aonnn nwnw? mwe and that 1°8n ' agrees with this nvw and
for a reason not relevant here this results in 2°&» ' not saying w1 WS 01N
for mawnn during nvnw

ii) X217 says that 1025 ROR 7w nw? n°Kk and that 2°&» ' agrees with this v w and
for a reason not relevant here this results in 2>&» "3 holding w2 7w o190 also
for mawnn during v nw

6) X
a) oRw

i)  Why does 7°xn "1 say in the xn>»12 that a 1279 is aw> if 2°%w nawnn is first and
09 if 097y nawnn is first

i) Is the reason that

(1) the mvw of ®27 is correct that 2°&n "1 holds that 71022 Xo& nw W 7k and
therefor w1 WS 019N

(2) so that

(@) if o>1m nawnn was first we ignore the second awnn of %9y and the
1297 is w5 even without relying on the 1>7 that 397y ngpn is w>

(b) if 277y nawnn was first we ignore the second mawn» of o1 and the
1297 is 7109 because there is no 7awnn of 72w nxpn

b) nawn of 727 (according to the &ona of X"wann) or ®37 (according to the ko7 of
5"wAnn)

i) Not necessarily

(1) there is a different y17°n that isn’t Wm0 the fv w of »ax that 7°x» " doesn’t
say 1w ' 0wn for mawnn during nwnw

(2) the precise y1°n isn’t relevant to this X"w"n
c) 7awn of »ax himself
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i) Here is another yy7°n that can accept that 2°&» ' doesn’t say w1 w2 090 for
mawma during noonw

i) Partl

(1) Because 7°x " holds that 2°nn »xna 1930m we treat each of the v nw *12°0
as if it were an nmay in itself

(2) So that if for any one 2°0 there is a 7awnn both for o°%7w and 177 we treat
the case as if for that y2°0 there was a mawnn of 799y ngpn which is qw>
also for 2xn '

(3) Note that we take account of the second nawnn as well as the first 7awnn
because we’ve established that for »»ax according to 2°x» ' there is no 1°7
of nwra s own for mawnn during v nw

iii) Part 2
(1) The xw™ — o5 0¥ o>7pn — deals with where 12°01 199127 WRA 12°0 MR
0°9w5 AR 1w — it follows that for the first 12°0 that’s only for >21 there is

no oo altogether and for the second y°o there is also no 05 because the
17 of 1797w nepn applies

(2) The x>0 deals with where °911% *1w 12°0 2°27¥% NWRA 172°0 Mk so that for
the first 20 there was a mawnn only for 1%y and it follows that the 1277 is
ale):)

7) mooin at 1w 12°01 77"7 0N .30 A7
a) Nwp

i) If "R "1 doesn’t rely on WA N 0190 why does it matter whether a person
says o> first or o> first

b) y1n
1) °Xn " teaches in the xw™ that

(1) the 127 would be 2w> even if the person didn’t say 0°773 R for the
second 12°0 and instead said only ano o°%7w

(2) because the fact itself that the person’s first mawnn of > was to the first
1°0 makes us assume that for his later 7awnn of 197y for the second 120
he meant 2°77¥% ax

i) 2°Xn " teaches in the x9°0 that

(1) it’s because his mawnn for the first 12°0 was for 0°%7y that when he later
said o> for the second 12°0 we don’t say that this proves that he meant
both o°%7y and o°%1n for the first 1m°0

8) mooin at o°9nh ooy A"y
a) Xwp
i) Partl
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(1) Return to the beginning of the x*»10 where the &3 asked “Why doesn’t "
7°&n agree with 1121 that qw> 797w nepn regardless of whether he says 19
first or o> first”

(2) This implies that there’d be no X*wp had 2°&» '3 said w3 in the x5°0 as well
as in the xw™

i) Part2
(1) But

(@) since xn " says °nn *¥n2 P23on it doesn’t matter what mawnn he
meant for the first 1°0 or the second j»°0

(b) So why would there be no xwp had °x» " said “w> in the x9°0 as well
as in the xw™

iii) Part 3
(1) And keep in mind that at the beginning of the x>0 we don’t yet realize the

v1°n of »ax on why in this special case it does matter for 2°xi "1 whether
the 7109 nawnn of o275 was meant for the first 12°0 or for the second 12°0

b) yn

i) A X in oonar proves that a°nn *xna Hion applies only if the Hxon or the 501
says he intends his 2109 nawnn to apply to a 1»°0 — the first y2°0 or the second
1m0 — that he designates in his 7awnn

9) X"womn at momTo 7"Ra
a) Nwp
i)  Why does mooin need to rely on the X3 in o°nar noon to prove this point

i) When mooin could have proved from the y11°n of »ax in our X*x10 who says
for 2°&n " in the Xn»12 that person who was °nn >xn 9aon designated the 12°0
to which he wanted his mawnn of o°>1 to apply and the y2°0 to which he
wanted his 7awnn of o°97v to apply

b) v
i) From the &n>>72 standing alone it’s possible that

(1) Generally =°nn >xna 19301 applies even when a person is 2301 for one 20
without specifying which specific y2°0 he means

(2) And the reason it’s relevant in the &n*>2 is only because the order for the
mawnn affects whether we interpret the word 2°%y to imply "o°%w% ax" as
mooin explained earlier in »xw m°0 7"7

10) X"wnn at oo a7
a) TP
i) Return to the &wp of mbdoin
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(1) The & nx implies in its X*wp that there’d be no X*wp to 7°&k» " had the
Xn»2 said 5109 for 17731 229 as well as to 171 9w

b) xwp

i) How would the x»3 understand how °x» " applies the o>71°% on .0 77 from
which the xanx derives that 797y ngpn is w2

c) Possible y1on
i) Partl
(1) At %ax "7 mpoin on .o 77 asked a similar x>wp

(@) Namely how =°x» " — who according to X217 says w2 1w 0190 also
for mawnn of nvnw — applies the o>7w°% on .0 77 from which the xn3
derives that 75w nxpn is w>

(b) Since if > is the wrA WS there is no need for the aw>i of nxpn
729w and if 297w is PwRa WL we ignore o°21n and there is no nepn
7w

i) Part?2

(1) mooin there answers that the o 7127 in the awn can deal with where there
is a group of 2wy oRY and a person said my mwnw is "9KR?" so there is
no Nwx1 W to which the mawnn can attach

iii) Part 3
(1) similarly the 17 that =°nn *¥n2 P230n for R " doesn’t apply where a
Person says 17x8? umw 171
(2) and it’s to this case that =°x» "y would apply the o>7v°% that “w> 797y n¥pn
d) possible yy7°n dismissed

i) This 7% wouldn’t answer the x>wp of the X"wann because we’ve established
that 2°nn >xna 1%30n applies for 7°xin "1 even where there is no 17 of W own
1w at all — for example during a v nw nawnn according to *>ax

11) 5"waan

a) Because of several nvwip including that it’s not 1anon that 727 would answer a
X°wp to »ax who was his 1°n°5n

b) %"wann is o that the second y1°n in the X% is by &27 on behalf of »»ax instead
of by 721

12) R"wann at 727 R A"

a) It’s not unusual for 7127 to answer a question to »ax by saying the &wp had
already been dealt with by earlier m=7

b) On the other hand it’s a 7 for the & ma to set out a y17°n by X2 before the &
sets out a y17°n by »aR
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NnOoo vniva n"Tn

TMIND® By "1 10Y I KD RIT WD 7ODIT R''AMNIN "D oD vmws 1''72 'own
ATTo2T7 B Y PIam DY umen XY 29001 A PR DY 1aTh KD 20n2T hY IR N7
AR KDY PIRD 22 1HY M2pH 190D T RUR 203 199 210057 a7 b 1 b
277217 2''5T W7 B 191 10150 Noona b7 A'7oa KUK 20uY 20077 1Y mwT

TP MIRD MBYD 72 MR RDDT

1) X

a) ammar P2 19 RYY AT T Pan OY LAWN R27 AWYN X922 T2W YRNT OV 1097 DR M
noon

2) Mmoo
The 1297 is 2w> because for o°w7p a 1°7 is 20¥n only if 2107 oY mw
3) X"wann
a) Nwp

i) Infact 23007 »oy mw in ' 30 nnw where the oo says °nar o7 yan 9y namn &L
aP2 7Y AT 291 PO R

b) v n

i) even where 210377 1"y maw the 177 is 20vn only where the purpose of the
repetition can’t be to add a second x>

i) Here’s an example where a repetition can’t be to add a second &5
(1) "noona" teaches the 17 that mos must be 1°111% vnw:
(2) We derive that this is ¥212°v% because
(a) The 7 is repeated in 10100 NooM2

(b) And o100 isn’t @ 1X? so the purpose of the repetition can’t be to add a
N7
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220 7T
DINK M702 NYI 7N A" T M'wn
2517 7997 KD 921 1772 29057 29K NIDTR W HINIT 7172 "Dl [2 Ty A0 07
PRWR IODIT AT 7AT P12 P90 KDY "3 umn RY DD onvnT RO RuITT 0oy N
KD 23007 RIP TTORR R TIRNT IO 2OAKR NIV KDY VR W2 nIvmaT B
Bop® 'DINT DAR WNRWRR DMK NIDTR ORTY RYTT "IN 037 257 PO XD ") mamn
91997 DIYD SNMRT PRI RDY A BIRN RDT R RITIT IOONT A D N9 KDY 7' Ta
N7 R 5D "2 WP K97 RN 17''72 '01N2 1P 'S By 2vnR niba onl
wWHD® R''RY Doy "D JWRR NOD AT AT P90 RDT RIPY "D JWwPR KXY A abn
M1 2R NIPTA MOD AN AT PUY RDT XIPT RO 120w phT 'inm MaTe
BRY IV T 7TNAN 212K TANRD INT DOUD anwa 953 1RPY '0INT NINS Yan MR
K99 1995 R 2w J39wpn 925791 297 PRT IR U 579207 212K 'R DR Invaa vans
R 297 PUIT IN UMIRST IS N2 PR AR 2997 PO IR UMRIR Y57 uen
P RY UIIRT 14D 2997 PUPRT TR IR Dar MamT 22 'R Sw nas yann
QIR PPAYD WD MAT 232 'R IRT DR 'wn nwwh 1R unwn KRYY P9 KD
NIDAT IND MWW M WA w'aD pD wanh w7 ORTY 2939 2R
22'1Y7Y 7R PODR AT abI PR RDM 2NN
1) First nnipn
a) 'R oo
i) 7T AR Mar AP2Y P XYY NAT a7 yan by vrwn K
b) '2 Mmoo
i) P2 7Y oam abm 1P KDY nar o7 yun by matn RO
2) Second 7P
a) now of »"wA
i) "mooi an nar 1R RN in 'k ;oo deals with the awa of nos 127p
i) "ama%n P2’ in 2 ;oo deals with the oonx of nod 12p
b) mvw of mooin

i) "mooman nar P XN in 'R p1oo deals with both the =wa and the o»nx of 127p
giel>

i) "ama%n P2’ in 2 ;oo deals only with the o>k of nos 129p
3) Third n7pi

a) From the plain meaning of 'k 05 we derive that the vmw is 2»n if nvnw nywa
there is 122 ynn

b) From the word °nar in '} P10 we derive that the P77 is 2> if 7> nywa there is
P22 P
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4)

5)

6)

7)

8)

9)

Fourth mn7pn

a) Fromawpnin 'k p1oo from 17 8 to vnwn &S we also derive a 17 for >12m 7nx"
"an

Fifth 70 — the meaning of the 1>7 of "2n 121 TnR"
a) "wn

i) The vmw and the pir and all 72 °32 are 217 if there’s ynm in the n°2 of any
of them

b) mooin

1) the vmw and the pr are 2»n for ynn in their houses and also 2»n for yan in the
houses of 7712an °127 71X but 777127 °12 are never 2>°n for the 185 of vnwn X5

i) because the only possible »12°1 from 'x 2109 is to increase the types of y»n for
which the vmw and the 211 are 21

Sixth n7pn

a) x99 27 holds that "o N1972 W 2R AwWYN X2 12w 2500 DR Pupnn 1"
Seventh fnpn

a) °"wn as explained by X"wAmn

i) %99 27 derives his 17 from 31 251 1°%° XY in "2 ;109 that according to *"wn deals
with the o>anx that the 2vpn brings to the nam

i) The o°vs of this wpei aren’t relevant here
Eighth mn7pn

a) The X3 mentions two mn»92 and explains that 'k &n»92 follows the nvw of 29
X995 on the 7°vpn while 2 8n°>12 doesn’t follow the 7w w of X959 27 on the v vpn

b) The xax explains further that 'x xn>92 is " nw? avpn wopn" while 897 8Xo°R"
VVW,PD

moaoin
a) The x»3 means that 'a xn»92 isn’t "nar? 257 wopn"

10) 5"wann — x2 of mvon

a) Mmoo means that a »12°7 to be 2>°rn the 7°vpn can be made only from 'a poo and
'2 Xn*12 doesn’t derive any wp°i from 2 P10

11) R"wann

a) Nwp
i) The nvw of H"wnnn fits for »"wA because

(1) *"wn says '& ;oo doesn’t deal with oK and to be 729n the 17 of Xop 27 0N
the “>upn it follows that

(@) 'x xn™ 2 relies on the wpe7 in 'a ;oo that does deal with o>y
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(b) While 2 xn»92 derives no wpi1 from '2 700 and as a result isn’t 7277
the 17 of X992 27 on the upn

ii) But the nvw of >"w-nn doesn’t fit for MmdoIN because
(1) Both ') xn»92 and "2 xn*12 are w7 the 127 for 7712m 2121 TnK
(2) And 'k oo deals with ok as well as “wa

(3) So to say "2 ®n*12 “isn’t w7 "2 705 isn’t enough to explain why '2 Xn*12
doesn’t derive the 17 of X995 27 from 'R Xn>>12

b) yn
i) This is what maoin means by "narb 251 wopn K77 X°KRY"
i) Partl
(1) It’s correct that ma0In hold that 'k P05 deals with o> nx as well as “wa
(2) But

(a) We’ve already explained that msoin holds that from '} 2109 the only
possible »12>1 is to that teaches the 17 of 7112 *12 TR as we’ve earlier
explained this 7 for moon that the only possible »12>7 from 'k P05 is
to increase the types of y»nn for which the vmw and the pr are 2n

(b) It follows that 'x 109 also can’t support a »12>7 that would make the
T°0pPn be 271

iii) Part 2
(1) So to make the =°vpn be 2n it’s necessary under the 7v*w of mooin for
'R Xn>72 to rely on "2 ;oo the same as for >"wA
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I NIRRT ROAIT FIPIORAR M2AYT ANPY "D APt XwR 772 [R TRy 70 07]
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1AW AT YXNAX 721 TONnn 2T nivoin

WAIDR B oY 19 NI RD2 NITD 91297 7190 R 2977 ORMBR 2''RT "D Ta0n ' Ta
NORDR 9 RDT TN IR NN NI TR D PIDNR PRY 277 YOIRBRT P '0na
"y 9oy nawnn

"D 77T TR 2997 N0 BN OB DY AN NN NS IIDNK AR Ta0Kn and 7''Na
DIAIA DMWY BTN 190 57192 W' WIDT ROR @' 2990 107 a3 PN Payh B'oy
12" DAY FTDONX MTIIRW FIORDR N7 2mn W'D s ISnnw 95 hY Oxy

Bop "1 TR KD 201282 FIDINT A9 N7 R "D 222 17T 23 DY IR 7''N2
77 7'TRRT 2% T WIPR MIAR PRT 2107 RYR RDT 179077 KT 2001 oy
R''7 QW 13202 PIIRAT PID WRNITINR FDINT NI RDT 2O9RITT 77910 MR WA 9T
TRy
DT MAPRR DY TR W B'OY T2 AN DAL SO MWNT MR TR0 7''N2
25"y 'oIN2 I 2R YWD 77RO 7

1) First nnipn

a) mwn and the X

i) the o175 were > the 71y on nawa Hnw nos 29y against the ¥ of A1 Hx "
who says that 1n7:7 is similar to yam3 7201 for which there’s a nRvr 21n on
naw for being nmi mwn

il) the o°nom agree with the o°3n5 because oonon say the Mook for yaam 7201 is a
11277 maw and "wpna Maw PR"

2) Second 7 as explained by mooin

a) 7oNn PRW 927 0S 7707 11 N on naw both for f7ie ' and pynw M except where
R 7ak Brile})

b) m91% 790X ApRWw 7oK1 is 201 for a7 M and s for pwnw
3) Third 7P
a) 7wnw ' agrees with the o°non that nawa ya9m1 7257 is Mwd
b) 177> " agrees with ary°ox ' that nawa yaam 7201 is 20
4) mooin as explained by x"wAmn
a) Now
i) Although the a1 of the 7ox%n of 7201 and yaan is to be ni mwn
ii) Still a person doesn’t do the 712°2 and 12> to achieve the mi of the 7ox5n

iii) So the case involves a 7917 757 PRW 79877 that’s 21 for 77 " and is 1wo
for nynw "

iv) See also the w17 of Y1 n"RA
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5)

6)

b) Note that

i) It can’t be that 777 " says 2»n because it’s "3 P05 that 12> 712° will
result in NI MWK

i) Because if there is “w p>09 then nwnw ' would agree that 12> 792°5 is 271
Twni of msoin
a) PN

i) In xnnn all floors were paved with stone and 72°3 was 7nn3% 2 because
there were no n1ma to be mwn

b) xwp
i) then why does q1v°%& " say 177 is w7pna MoK based on an Mok for 7201
i) after all the 771y had a stone floor

X"wann
a) Nwp
i)  Why didn’t mooin ask that since y12°1 712°3 is 2w even in X why did
o o1 need to base their an° for 777 on the 127 that wpna Maw PR
b) y1n
1) were it not for the rule of wipna maw X we would have been =na not to do
7n70 in the 771y because of a wwn that a person might do 712°5 outside of the
771y where 029w isn’t paved with stone
c) Nwp
1) 73127 weren’t IMA an MOX 0N 1122 712°2 in &1nn lest there be y12° M2 in
non-stone floors elsewhere
d) y»n

i) In xnmn — unlike 2w — the entire city was paved with stones and it’s not
92non to go so far as to be =i for other cities

i) In oy

(1) Only the n71y was paved and it’s 7anon to be a3 lest there be 7125 outside
the oy
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227m1 X7 Nnw 2" TN

FTMIND® Doy "2 PRIWT TOW Rapnah NN 272 oD K "D bapni XY XRw 7''72
PO RITT TP DAR DOPHT 70Y 1111 D92 Dapn1 ROW 1917 DR Rapnah IR aTR
27 52 Lapnae 77 PRT WNDD IR 1TRaAp KDY D9 W KDY 37 1100 201707
MIRTT 27 N DAR T PIMT 2OIIDT NT NP IR DaApNI IIRIDRT RTIAY MR
BaPNIT 190 RIT TN ORI DaAPNIY NIRTT 2T MW A2 IR ORI Bapnab
SIRTT DT 27 B2 DaAPD TIUNT VARPT AR DW ONORT JWT MMN 21 20 1An NP
B'"m 7T RD 3T PIOT 20T R YT RY ONORT ROPOwRT 97 R0 2"y hapnme
RI7 208 27 2'"'RT WP WRY P D 37 PRIDT 2R IR Papnah N7 2T
PR D PAS2 KON 77T DR T POVAR PR PRIWT 2R AR RDT PO 10 9P ORPRY

137 MW 2T AT ' hw

1) mnpn

a) m>p o7 that flows directly into a *%5> from the %1% of a 72 and isn’t 79395 oW
is "% for p>77 onto the nmam

2) mwn and X3 as explained by msoin
a) anT "

i) the o35 would fill a 013 from a7 on the 9% of the 771y and would be P91
from the 012 onto the nam

ii) so that if the o7 of any 3277 was 7ow1 on the 9% without np>a1 this final 7P
from the o1 would be 2*won the 1297

3) X
a) xwp as explained by msoin

i) Maybe in the 015 there’s m%p o7 that wasn’t *222 2apn1 directly from ax1x
720 and it’s MoK to be 77%wn this o7 onto the mam

b) y1n

i) o170 are proor and are 2apn all of the m»p o7 in a *%5 directly from 7727 X
c) xwp of "noxnna o7 XoM"

i) 2172 %% 2vam 2 2vn e o7 X9

ii) but the 015 also contains n>xnni o7 from the n9%A of the 771y and the n>xnnn o7
IS 2172 Pvan the “952 Papniw m>°p o7 that’s in the 012

4) mooin

a) [7°79 R °¥nna a7 72 KOR] 70 KD 2172 Y D0am1 12 27n R¥anT a7 R9M 0 0"
"3 DR 7T 72022 PR PWT 7w Papnah IR0 0T

5) R"wann
a) noRw
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i) To what o7 does mooin refer when it says Town %apna% “R17 a7 [0 8"
"3T DR AT 7Y0an PR POWT

b) n2wn of the first x1nx min of X"wann

i) Moo means m°p o7 that wasn’t °222 92pn1 from nna27 Axx and was instead
79w1 on the 1791 of the 7y

c) Nwp

1) The & na just established that because the o375 are 111 they always see to it
that all m%p o7 is collected in a *7>

d) yyn of the second 1k mi of R"wan
i) The x7mx didn’t mean that all m%°p o7 is *222 22pn:
i) The x7mx meant only that o°371> see to it that at least some m%°p a7 is *252 7apn

iii) And m»oIin now explains that m%» o7 that was 7ow1 and wasn’t *%32 %2pn1 is
IM5¥732 N on the nam and isn’t Yvan the m>°p a7 that was 952 5apn1

e) X279 to the Y10 of the second x°nx M of X"wann

i) From o°mar noon it’s ynwn that o°1n5 in fact managed to be 53pn the entire a7
m>p in a9

f) xipon of R"wAnn
i) moowin means to ask that

(1) when the xna asks that maybe the 01> holds no m»°p a7 that was 2apna
"532 and the &3 hasn’t yet answered that 0°1770 are careful and collect the
entire m>» o7ina" >

(2) Why doesn’t the xn3 also ask that
(@) even if the o013 does hold some >952 apniw m»°p 07
(b) still that o7 is %2 in m>p o7 that was 79%72 75w1 and wasn’t *222 Hapna

i) And mooin answers that Jowiw m>*p 07 is 721w on the nam and isn’t Yvan any
m>°p o7 that was >33 apn:

g) xXwp

i) "ar R oA Povan PR " applies only to cases such as oy Sw vw 197 07
o 1> where both the 997 o7 and that 2°yw are “w>

Vw1 NN TPV 1170
7"vwn Mo A"anT "7
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